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Asia Sudoku Championship 2023
Instruction Booklet — U10

HFEEHXIX|E H|ZA| (Jeju City, Jeju Island, South Korea)

2023 18 27 29 Y /Friday 27th, January 2023

10:00-10:35 Round 1
10:50-11:50 Round 2
12:05-13:05 Round 3
15:00-15:50 Round 4
16:05-16:50 Round 5 - KenKen
17:05-18:05 Round 6

35 minutes
60 minutes
60 minutes
50 minutes
45 minutes
60 minutes

20234 18 282 EQQ /Saturday 28th, January 2023

10:00-10:40 Round 7 - TEAM - Passing the Parcel 40 minutes
10:55-11:35 Round 8 - TEAM - The Connector: Classic 40 minutes
11:50-12:35 Round 9 - TEAM 45 minutes
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300 points
600 points
600 points
500 points
400 points
600 points

1600 points
1600 points
1800 points



A ® 2L
s

&5t e W 8 s + ASHCL T2 FASHK| 2 oY

—_

- Mgk AlZE ojHo| RE EXME CHED MBSHA 2F YEHE 20T H2A12 6 =8 1 8Y

O —

- Mgk Azt OIXJOH = =ME o222 X1l§§ﬂ9'—f 17 2ME 1~27 K02 &
H2AIZh 6 = 0.6 (e 220 06H)A YL 12T 673)
- 0|2lel BRI =ME 37 oy ERALL 22X Olg 2ENME EHA H+E e &

=R

r
N
o

R
(o))
bt
Inl
(Oa}
0%

=

of 2= 2XME 2D MEMAM 25 JYEHL 02 H24
)

SERSICE EI-MOl 06HH HI—IEL 1&g 307;1)

..I
I:I
- OIS’-IQ BRI ZME 37 ofy ERALL 22X ol LEN= EHA H+E BE &

CH =)ol A

1 B M7bxbe 74O BleEolA Dj2| FulE My gtoiop BT €2  2eEE Y
0]z FH|E ST Eeisior g o

2. 7t B2 E7t AIRE| Mo RE HIIRHE HAO| SOFQUER] HHOIS|OF BLICH LA EAE

ot (5 ME2R) tiel¥el 2%90| ¢E = UASH

3. Z} 2257t AMHEZ| Fo| &7HAE el MAHEHA) A Ho|X|of gEE 57t olF E
X 7S TS ZIMBHOF SLICE Of EIL =OlE[X] Y2 % Fx H2 i 220N
i 7HAtoA 5 FOloHX| e a7t ASLE

4. F7Hxts 4 22E AE Ho| EMXIE € 5 820, AE M=7h FO{MorE EXNXIE
1 HES & + AgU

5 2Zf Jiel 22t S FIMA= &t 2EE dO Rt Q0| g =83 UAOOF



7. 2t2E 2=2E dQStY] {3 de= EMAIE 2 finished'2tn FESHA Zob CHF
ZHXIE 7K EE SO0{0F ggLCh. Ol =0l EMAIE Z0Z W7tK sHS=H, E
c2E0E S 3ol §EELU

8. 5 & OlgsS g7I1 ¥ 22EE oYl M E= H2 =89 H¥S MMUHES =
U LIL.

9.5 & 0[S 7|1 € 22ES Ol M E= g2 OE d30A &7t 7t AS
971 2l ch=lEo )

10. O{H O|REE M7
11. 2}RE7 &
ZMXE 2 M2 &= E S0{220F UL Ol S0l ZHMXE ZOoZ WA
s L Ct.
12. 2tRE7t BUH I ZE EHMX7L 22 W7HX] Xpe(of ot UO0{oF L.
dojLt: El&= A 2o &

13. CH3|E LiolM Mzt R MR7|7(2] AHEO] FX|E0of UASFL|CH FXQ MU0l AKX
RAO0{OF StO, EIIRIO| My (0] X UZF o FA K.

14. M= 2tRE 30| FtH2tLt 7|Ef 58 FEXE AL
FE|Rte| Mol met AFEA & = USUCH CiEh
DHEDE 2|Vt L FHHELE ABSHA] REE ol FA
15. EZWXIF HEO 2H7F UCtn MZistH Ho| "ERE I{E" E£& "Wrong puzzle'o|ztd
MM HZEO| REIUSS YUS| 9S50F FLICE EIAE 2tRE T FAZH0 0l YMEe
OtE|, 2tRE TE 0| =AY ofEY

16. HE2 2L oM ofH =MEE 2AEZ = UASLCH OaEEs HO|E £ FRE0
met HES| ™S mjF oM, ZHRIAtOiCH Mz Ho|=7t Eetd = JUELICL oAl HEQ
HO|= 7t BIEA] siE Oz HEQ H Z

0

o
H
i
T
0Q
ot
rir
pad
rlo
(@)
oC
-
o

+ Y 318 BR(ME YAEK 2= 8 H
x| % 3

18. 29t AYL 2 EIREOIA Tfsh7t 7| e MoIA S E LI

79t 22 FA BAE Agots

PR M M2 E AE YL

a
20. Cis[HOf BHE CHE 2E =82 7t40 €0 2adiof otH, S2E 7I2|X| HEE MY

0

2
[n
rH
sl
o
k=]
M
kA
rir
o
rn
d0 &
o 0% rlr
1o
XN
r>

21. 0] FHZ gUelE WS W 4+ AoD, M¥ FL0|

1=
theloAM 248 = AsHEL

rir
ke

ZbRtLE EBIO] 22 ELE



H| T

22. 2I2E T oStHoAM Fst 2F7F A= B FA F2 LM 22EE AHMSHALE
HIMROA H+E FOSHA = M2z HR2EE F2aE & Us H2E XD AFLIL
23. 4 ZHXA0ls HE 2t2=2 HO[X| & otit E= o2 HEO #+FE|0 A2l HES

Al 2 = .
HEQ o7t S0U=s A 2 AUME 7tMed AS Ay
25. B 22EoM 4 EMX= OAl 2XMs =22 AN Z28E Y AR @EE = ASHCE
Ol 2r2E0M BE 2o x| 18 o|def ALME 7IHeE A0l F5LICh

Z (Jinhoo Ahn, KOR)
& (Minyoung Joo, KOR)
Ol = -- Hemant Kumar Malani, IND

China -- George Wang (Kenken China)

28 ZEX} HCt (Test Solvers)
O|AEL|OF — E|Q 23 (Tiit Vunk, EST)

Z2A — 0|FO0t2 ZE (Edouard Lebeau, FRA)
HE2tE — X|Y H|QI5t7{ 2 (Chiel Beenhakker, NED)
d= - E Z2|0¢ (Tom Collyer, GBR)



Competition Rules

Scoring and Bonuses
Points will be awarded only for fully and correctly solved puzzles. In general, there is no partial credit
unless it is stated otherwise in the round's description.

Individual Rounds

- A bonus of 1 point for each remaining 6 seconds(10 points for each full remaining minute) will be
awarded to any competitor who correctly solves each puzzle in a round.

- At the judge’s discretion, 0.6 points (0.6x bonus, 6 points for each full remaining minute) will be
awarded in the case of a single minor mistake in no more than one Sudoku. A minor mistake is
considered as at most two incorrectly filled cells in at most one of the Sudokus.

- Otherwise, no bonus will be awarded.

Team Rounds

- Abonus of 5 points for each remaining 6 seconds(50 points for each full remaining minute) will be
awarded to any team who correctly solves all the puzzles in a round.

- At the judge’s discretion, 3 points (0.6x bonus, 30 points for each full remaining minute) will be
awarded in the case of a single minor mistake in no more than one Sudoku. A minor mistake is
considered as at most two incorrectly filled cells in at most one of the Sudokus.

- Otherwise, no bonus will be awarded.

Competition Hall Rules

1. Each competitor has to sit at his/her pre-allocated desk in individual rounds. Teams have
to work at their pre-allocated desks/areas for team rounds.

2. Prior to the start of each round, competitors must ensure they are at their desks ready for
the start of the round. Late arrivals may not be permitted to enter the competition hall to take
part in a round (at the discretion of the organizers).

3. Prior to the start of each round, competitors have to clearly write their name, team and
reference number on the front of their competition booklet into the allocated space. If this
information is not complete, then the organizers reserve the right not to award any points to
that competitor for that round.

4. Competitors must not open their booklets before the official start of the round. When the
signal for the start of the round has been given, competitors may open their booklets and
begin solving the puzzles.

5. During each individual round, competitors have to keep silent, unless declaring completion
of a round.

6. During team rounds, team members may talk to each other, but should do this with
respect to other teams.

7. To declare a round complete, a competitor must close his/her booklet, clearly state
“finished” and raise his/her arm with the booklet. The competitor’'s arm must be raised until
the booklet is collected. The same rules apply for the team competition.

8. Competitors or teams who complete a round with more than five minutes in advance, are
allowed to leave the competition hall quietly.

9. Competitors or teams who complete a round with five minutes or less left are not allowed
to leave their desks or tables in order to not to cause unnecessary disruption to fellow
competitors.

10. When a competitor leaves the competition hall for any reason, he/she will be not allowed
to continue in that round.

11. When the signal to finish round is given, competitors have to stop solving immediately,
close their booklets, put their pens/pencils down and their hands up with their booklets for
collecting.

12. At the end of a round, competitors have to remain seated until all booklets have been
collected. The signal to get up and leave will be given by the supervisor.



13. Mobile phones and electronic devices are not permitted to use in the competition hall.
The devices have to be turned off and must not be placed on the competitor’s desk.

14. Competitors may not use cameras or other recording devices during rounds. Only official
observers may do so, at the discretion of the organizers. They have to respect the
competitors and not use flash photography or cameras with excessive sounds.

15. When a competitor believes that there is a problem with a puzzle, they must clearly state
that puzzle is wrong by writing “Wrong puzzle” next to it. The competitor must not notify the
organizers during the round. This will be investigated upon completion of the round.

16. Puzzles can be completed in any order within a round. The points’ value of a puzzle is an
indication of its expected difficulty, although individual solving experience may differ. The
difficulty of an example puzzle does not necessarily reflect the difficulty of the corresponding
competition puzzle.

Permitted Items

17. Permitted items which can be used in the competition hall (unless stated otherwise) are:
pens, pencils, pencil sharpeners, erasers, rulers, blank papers and instruction booklets
annotated with notes regarding puzzle instructions and preparation notes.

18. Drinks and snacks are permitted as long as they do not disturb other competitors with a
strong smell or rustling packet.

19. It is strictly forbidden to use electronic devices such as music players and headphones or
any type of calculator. Use of such equipment may lead to the disqualification of the
competitor.

20. Any other items brought into the hall must be kept in a bag on the floor and placed under
the competitor’s desk, so as not to block the aisles.

Breach of Rules
21. Any breach of these rules may lead to penalty points, or in severe cases to a competitor
or team being disqualified from the round or competition.

Final Remarks

22. In case of a major mistake in one of the rounds, organisers reserve the right to cancel
the round, either by removing it from the time schedule, or by not rewarding any points for it
to any of the competitors.

23. The official puzzle booklets will contain 1-2 puzzles per page in the individual rounds.
The rules of the puzzle and the corresponding points are always written next to it.

24. The official puzzle booklets will not always contain puzzle examples. Therefore, we
recommend to bring the Instruction Booklet, which contains an example of every puzzle
which will be part of the championship.

25. In the team rounds, the official puzzle booklets may contain neither puzzle rules nor
examples. It is advised to bring at least one Instruction Booklet for a team for these rounds.
26. In any case of inconsistency between this Instruction Booklet and the official puzzle
booklets, e.g. rules or points, the information in the Instruction Booklet will be considered
valid.

27. In the competition hall, a timer counting down to the end of the round will be visible for all
the competitors.



12FE (Round 1)
12 24|, 35 &, 3004 (12 puzzles, 35 minutes, 300 points)

1~6. &l Az 3 (Classic Sudoku) [7 + 8 + 9 + 10 + 14 + 48 H]

Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each
row, column and 2x3 outlined box.
7t 7122, 7t M2Z, #2 Moz Bl 2x3 HhA B 1RE 6712]9] £at8 ZEglo] Holgatich

2 2136
4 6|3

DA NN|W O
— WO,

0]

w
W=k~
A= INDOO|O
apnp|~rO|—
NOaAW A~ | —

7 ~8 83 Ac3F (Odd Sudoku) [16 + 347H]

Classic Sudoku rules apply. Cells with a circle contain odd digits.
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9 ~ 10. ® A3 (Even Sudoku) [18 + 25%]

Classic Sudoku rules apply. Cells with a square contain even digits.
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11 ~ 12. 9x9 YHF A3 (9x9 Classic Sudoku) [55 + 56%]
Place a digit from 1 to 9 into each of the empty cells so that each digit appears exactly once in each

row, column and 3x3 outlined box.
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22+E (Round 2)
14 24|, 60 &, 6004 (14 puzzles, 60 minutes, 600 points)

1~ 2 &dHl A3 (Classic Sudoku) [11 + 13 H]
Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each

row, column and 2x3 outlined box.
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3~4. QM AEF (Fortress Sudoku) [33 + 133F]

Classic Sudoku rules apply. If a shaded cell and a white cell are adjacent then the digit in the shaded
cell is greater.
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5~6. 3idHE A3 (Arrow Sudoku) [49 + 52H]
Classic Sudoku rules apply. The sum of the digits along the path of each arrow equals the digit in the
circled cell. Digits may repeat within an arrow shape.
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7 ~8. 255 Ax3 (Greater Than Sudoku) [35 + 40%H]

Classic Sudoku rules apply. The cells should satisfy * > * (greater than) and * <" (less than) signs.
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9 ~10. 227 AX3F (Thermo Sudoku) [9 + 327H]

Classic Sudoku rules apply. Some thermometer shapes are placed in the grid. Digits are strictly
increasing from the round bulb of the thermometer to each flat end.
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11 ~ 12. A2 AEF (Killer Sudoku) [53 + 78 H]

Classic Sudoku rules apply. The number at the top-left corner of each cage equals the sum of digits
inside the cage. Digits do not repeat inside a cage.
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13 ~ 14. L EX] A= 3 (No Touch Sudoku) [13 + 49 H]

Classic Sudoku rules apply. Equal digits don't touch each other diagonally.
it AE 0] FAL whEich e 2ab7l] i oz WsHgle & gavch
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32+E (Round 3)
14 24|, 60 &, 600 4 (14 puzzles, 60 minutes, 600 points)

1~ 2 <ddHl AL 3 (Classic Sudoku) [7 + 8 H]
Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each

row, column and 2x3 outlined box.
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3 ~4. SR A3 (Extra Region Sudoku) [43 + 62 H]

Classic Sudoku rules apply. Within each coloured region each digit must appear exactly once.
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5~6. X| 34 Z2| AEF (Irregular Killer Sudoku) [38 + 59 H]

Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each
row, column and irregular shaped outlined regions. The number at the top-left corner of each cage
equals the sum of digits inside the cage. Digits do not repeat inside a cage.
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7 ~ 8. X|Oa A3 (Irregular Sudoku) [34 + 65H]

Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each
row, column and irregular shaped outlined regions.
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9 ~ 10. 22| A= 3F (Disjoint Sudoku) [26 + 26 H]
Classic Sudoku rules apply. Numbers cannot be repeated at the same relative positions within the

outlined 2x3 boxes.
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11 ~ 12. 22 AE 3 (Clone Sudoku) [23 + 87 H]

Classic Sudoku rules apply. In grey areas with the same shape, all digits on equal places must be
identical.
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13 ~ 14. 3|2 AE3F (Palindrome Sudoku) [42 + 80 H]

Classic Sudoku rules apply. The digits on the grey lines form a palindromic sequence from one end to
the other. i.e. the Xth digit on the grey line is identical to the Xth digit on the opposite end of the line.
(example: 1234321)
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4 2t-2E (Round 4)
12 24|, 50 &, 500 4 (12 puzzles, 50 minutes, 500 points)

1~ 2 &l A3 (Classic Sudoku) [9 + 9 H]

Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each

row, column and 2x3 outlined box.
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3 ~4. HEBE AT F (Quadruple Sudoku) [44 + 64 H]

Classic Sudoku rules apply. Each set of four digits in the intersection of two lines indicates the digits
that have to be placed in the four adjacent cells.
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5~6. o AEF (Exclusion Sudoku) [43 + 58 H]

Classic Sudoku rules apply. Each digit at the intersection of four cells must not be present in any of
those four cells.
Uy Ax 0] Falg whguich, ] 7+ Afolol] Fojyl fab: 1 QhojlA AFSE & glaich
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7 ~ 8. AE7| 2= F (Kropki Sudoku) [35 + 104 H]

Classic Sudoku rules apply. A white circle between two cells indicates that the neighbouring digits
are consecutive. A black circle between two cells indicates that one of the digits is twice as big as the
other digit. The dot between two cells with digits 1 and 2 has any of these two dots. The absence of a
circle indicates that there is no neighbouring digit that is either consecutive or double.
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9 ~ 10. 4= A3 (Consecutive Sudoku) [35 + 41 H]

Classic Sudoku rules apply. In ALL cases where two neighbouring digits are consecutive, this is
indicated with a bar.
it Ax o] g uhgch Flate QYT £ 43P 23 A4 Heolg £ 7t Aboo] wichzt
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11 ~ 12. A& 3 XV (XV Sudoku) [25 + 33 H]

Classic Sudoku rules apply. Adjacent cells with digits summing to 5 are marked by V, while those
summing to 10 are marked by X. All possible V and X are marked.
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52t&E - Calcudoku (Round 5 - Calcudoku)
16 24|, 45 &, 400 4 (16 puzzles, 45 minutes, 400 points)

1 ~ 16. Calcudoku (KenKen) [8 + 10 + 13 + 36 + 22 + 17 + 15 + 23 + 24 + 21 + 35 + 41 +

44 + 27 + 33 + 33 H]

Place a digit from 1 to N, in an NxN grid into the grid, into each cell so that no digit repeats in any row
or column. Also, the number in the upper-left corner of each bold cage indicates the value of a
mathematical operation (addition, subtraction, multiplication, division) applied successively to all
digits in the cage, starting with the largest digit for subtraction and division (e.g. 1, 2, 4 with
subtraction is a 1- clue as 4-2-1 = 1). The operation may or may not be given in the cage, but at least
one of the four operations must apply. Digits can repeat within a cage.
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6 2-+E (Round 6)
14 24|, 60 &, 6004 (14 puzzles, 60 minutes, 600 points)

1~ 2 edHl A3 (Classic Sudoku) [14 + 17 H]
Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each

row, column and 2x3 outlined box.
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3~4. 2& &2 AEF (Little Killer Sudoku) [51 + 80 H]

Classic Sudoku rules apply. Numbers with arrows outside the grid is the sum of the digits in the
direction pointed by the arrow.
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5~6. MEQ|X|] AX3F (Sandwich Sudoku, Between 1 and 6 Sudoku) [45 + 59 H]

Classic Sudoku rules apply. Clues outside the grid indicate the sum of the digits that have to be
placed between the digits 1 and 6 in the respective row or column.
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7 ~8 2 H/siamE A3 (Arrow/Thermo Sudoku) [32 + 64 H]

Classic Sudoku rules apply. Some thermometer shapes are placed in the grid. Digits are strictly
increasing from the round bulb of the thermometer to each flat end. Also, the sum of the digits along
the path of each arrow equals the digit in the circled cell. Digits may repeat within an arrow shape.
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9 ~ 10. XV/Kropki Pairs Sudoku [30 + 29 H]

Classic Sudoku rules apply. Adjacent cells with digits summing to 5 are marked by V, while those
summing to 10 are marked by X. A white circle between two cells indicates that the neighbouring
digits are consecutive. A black circle between two cells indicates that one of the digits is twice as big
as the other digit. The dot between two cells with digits 1 and 2 has any of these two dots. NOT all
possible V, X's and dots are marked.
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11 ~ 12. QtE|L}O|E AL 3 (Anti-Knight Sudoku) [30 + 38 H]

Classic Sudoku rules apply. No cell that is a knight-step away can contain the same digit.
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13 ~ 14. 2|E& Zg & AxF (Little Killer Killer Sudoku) [55 + 56 H]
Classic Sudoku rules apply. The number at the top-left corner of each cage equals the sum of digits
inside the cage. Digits do not repeat inside a cage. Also, numbers with arrows outside the grid is the
sum of the digits in the direction pointed by the arrow.
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Bl 72t2E - A X AT (Round 7 - (TEAM) Passing the Parcel)
18 24|, 40 &, 1600 & (18 puzzles, 40 minutes, 1600 points)

This round contains 18 independently solvable sudokus. At the beginning of the round, each player
gets a sudoku(1 to 4). After solving the sudokus independently for every 2 minutes, each player must
pass the puzzle to the next player (player 1 will pass the puzzle to player 2, player 2 will pass the
puzzle to player 3, player 3 will pass the puzzle to player 4, player 4 will pass the puzzle to player 1).
This process continues. When one of the players completes his/her sudoku, then player can solve the
next puzzle. The process continues for 40 minutes. After the end of 40 minutes, all the papers are
taken back.
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1, 10. &dt Az 3 (Classic Sudoku) [35 + 25 H]

Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each
row, column and 2x3 outlined box.
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2. LE|X] A3 (No Touch Sudoku) [40 H]

Classic Sudoku rules apply. Equal digits don't touch each other diagonally.
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3. [jZt Ax 3 (Diagonal Sudoku) [200 H]

Classic Sudoku rules apply. Each main diagonal contains each digit from 1 to 6.
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4. 255 A3 (Greater Than Sudoku) [1007]

Classic Sudoku rules apply. The cells should satisfy * > ' (greater than) and ' < ' (less than] signs.
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5. 2574 Az 3 (Thermo Sudoku) [957]

Classic Sudoku rules apply. Some thermometer shapes are placed in the grid. Digits are strictly
increasing from the round bulb of the thermometer to each flat end.
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6. A& AL 3 (Consecutive Sudoku) [40 H]

Classic Sudoku rules apply. In ALL cases where two neighbouring digits are consecutive, this is
indicated with a bar.
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7. 2 7|/3Hd85 AT F (Arrow/Thermo Sudoku) [140 H]

Classic Sudoku rules apply. Some thermometer shapes are placed in the grid. Digits are strictly
increasing from the round bulb of the thermometer to each flat end. Also, the sum of the digits along
the path of each arrow equals the digit in the circled cell. Digits may repeat within an arrow shape.
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8. 3atE AEX3F (Arrow Sudoku) [100H]

Classic Sudoku rules apply. The sum of the digits along the path of each arrow equals the digit in the
circled cell. Digits may repeat within an arrow shape.
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9. XV/Kropki Pairs Sudoku [50 H]

Classic Sudoku rules apply. Adjacent cells with digits summing to 5 are marked by V, while those
summing to 10 are marked by X. A white circle between two cells indicates that the neighbouring
digits are consecutive. A black circle between two cells indicates that one of the digits is twice as big
as the other digit. The dot between two cells with digits 1 and 2 has any of these two dots. NOT all
possible V, X's and dots are marked.
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11. X|34& A= 3 (Irregular Sudoku) [257]

Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each
row, column and irregular shaped outlined regions.
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12. S E AR (Extra Region Sudoku) [50 H]
Classic Sudoku rules apply. Within each coloured region each digit must appear exactly once.
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13. @A A= 3F (Fortress Sudoku) [70H]

Classic Sudoku rules apply. If a shaded cell and a white cell are adjacent then the digit in the shaded
cell is greater.
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14. Ae| A3 (Killer Sudoku) [75 H]

Classic Sudoku rules apply. The number at the top-left corner of each cage equals the sum of digits
inside the cage. Digits do not repeat inside a cage.
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15. 2|& Zg ZZ Az (Little Killer Killer Sudoku) [220 H]

Classic Sudoku rules apply. The number at the top-left corner of each cage equals the sum of digits
inside the cage. Digits do not repeat inside a cage. Also, numbers with arrows outside the grid is the
sum of the digits in the direction pointed by the arrow.
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16. 2|& Z2| AEF (Little Killer Sudoku) [130 E]

Classic Sudoku rules apply. Numbers with arrows outside the grid is the sum of the digits in the
direction pointed by the arrow.
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17. 2% AL 3 (Odd/Even Sudoku) [55H]
Classic Sudoku rules apply. Cells with a circle contain odd digits, cells with a square contain even
digits.
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18. 28 A3 (Clone Sudoku) [100 H]

Classic Sudoku rules apply. In grey areas with the same shape, all digits on equal places must be
identical.
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Eld 82t L - of H4E: FahA
(Round 8 - (TEAM) The Connector: Classic)
14 24|, 40 &, 1600 M (14 puzzles, 40 minutes, 1600 points)

Classic Sudoku rules apply for each grids. Some cells of each grid are connected to one or more
grids via grey connectors. The connected cells must contain same digits. Partial points are 100
points per grid.
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El 92t2E (Round 9 - (TEAM))
7 24|, 45, 1800 A (7 puzzles, 45 minutes, 1800 points)

There will be 6 variant sudokus and 1 classic sudoku. The classic sudoku will have all incidences of
each digit at exactly the same position as one of the variants. It is a part of solving to determine
which digit comes from which variant. For example, all 1s come from variant 1, all 2s come from
variant 2 and so on.
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1. 28] 2= 3 (Disjoint Sudoku) [250 H]

Classic Sudoku rules apply. Numbers cannot be repeated at the same relative positions within the
outlined 2x3 boxes.
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2. 207 AEF (Thermo Sudoku) [250H]

Classic Sudoku rules apply. Some thermometer shapes are placed in the grid. Digits are strictly
increasing from the round bulb of the thermometer to each flat end.
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3. EEHM AEF (Slot Machine Sudoku) [2507]

Classic Sudoku rules apply. The three shaded columns are like the rolls on a slot machine. The 6
numbers they contain have to be in exactly the same order, taking into account that they wrap around
the grid from top to bottom.
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4. 3|2 AX3F (Palindrome Sudoku) [250 &]

Classic Sudoku rules apply. The digits on the grey lines form a palindromic sequence from one end to
the other. i.e. the Xth digit on the grey line is identical to the Xth digit on the opposite end of the line.
(example: 1234321)
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5. [jZtM A g3 (Diagonal Sudoku) [250 H]
Classic Sudoku rules apply. Each main diagonal contains each digit from 1 to 6.
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6. QtE|L}O|E A3 (Anti-Knight Sudoku) [250 H]

Classic Sudoku rules apply. No cell that is a knight-step away can contain the same digit.

Qut AE30] FalL whEUch ojL it 1 7ro 2HE HAo] LolE X 7)) K7t 3 W 2xoiN
7 2 gl Fols M2 e 42} obME oF Huct,

3|6

w

(8))
= IND WIS O
WOk |—= N
NI | =~ W
OB~ NDWW D
O Wl =
— NDJW OO~

7. &dl Az 3 (Classic Sudoku) [300 ]

Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each
row, column and 2x3 outlined box.
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2023 OfA|otA £ A MAIICYT]
Asia Sudoku Championship 2023
Instruction Booklet — U15

HFEHXIX| = HZFA| (Jeju City, Jeju Island, South Korea)

2023 18 27 29 Y /Friday 27th, January 2023

10:00-10:35 Round 1 35 minutes 300 points
10:50-11:50 Round 2 60 minutes 600 points
12:05-13:05 Round 3 - Grid 60 minutes 600 points
15:00-15:50 Round 4 - Quads 50 minutes 500 points
16:05-16:50 Round 5 - KenKen 45 minutes 400 points
17:05-18:05 Round 6 - Samurai 60 minutes 600 points
20234 18 282 EQQ /Saturday 28th, January 2023
10:00-10:40 Round 7 - TEAM - Passing the Parcel 40 minutes 1600 points
10:55-11:35 Round 8 - TEAM - The Connector: Consecutive 40 minutes 1600 points
11:50-12:35 Round 9 - TEAM - Match 45 minutes 1800 points

Z%| /Organized by:
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Competition Rules

Scoring and Bonuses
Points will be awarded only for fully and correctly solved puzzles. In general, there is no partial credit
unless it is stated otherwise in the round's description.

Individual Rounds

- A bonus of 1 point for each remaining 6 seconds(10 points for each full remaining minute) will be
awarded to any competitor who correctly solves each puzzle in a round.

- At the judge’s discretion, 0.6 points (0.6x bonus, 6 points for each full remaining minute) will be
awarded in the case of a single minor mistake in no more than one Sudoku. A minor mistake is
considered as at most two incorrectly filled cells in at most one of the Sudokus.

- Otherwise, no bonus will be awarded.

Team Rounds

- Abonus of 5 points for each remaining 6 seconds(50 points for each full remaining minute) will be
awarded to any team who correctly solves all the puzzles in a round.

- At the judge’s discretion, 3 points (0.6x bonus, 30 points for each full remaining minute) will be
awarded in the case of a single minor mistake in no more than one Sudoku. A minor mistake is
considered as at most two incorrectly filled cells in at most one of the Sudokus.

- Otherwise, no bonus will be awarded.

Competition Hall Rules

1. Each competitor has to sit at his/her pre-allocated desk in individual rounds. Teams have
to work at their pre-allocated desks/areas for team rounds.

2. Prior to the start of each round, competitors must ensure they are at their desks ready for
the start of the round. Late arrivals may not be permitted to enter the competition hall to take
part in a round (at the discretion of the organizers).

3. Prior to the start of each round, competitors have to clearly write their name, team and
reference number on the front of their competition booklet into the allocated space. If this
information is not complete, then the organizers reserve the right not to award any points to
that competitor for that round.

4. Competitors must not open their booklets before the official start of the round. When the
signal for the start of the round has been given, competitors may open their booklets and
begin solving the puzzles.

5. During each individual round, competitors have to keep silent, unless declaring completion
of a round.

6. During team rounds, team members may talk to each other, but should do this with
respect to other teams.

7. To declare a round complete, a competitor must close his/her booklet, clearly state
“finished” and raise his/her arm with the booklet. The competitor’'s arm must be raised until
the booklet is collected. The same rules apply for the team competition.

8. Competitors or teams who complete a round with more than five minutes in advance, are
allowed to leave the competition hall quietly.

9. Competitors or teams who complete a round with five minutes or less left are not allowed
to leave their desks or tables in order to not to cause unnecessary disruption to fellow
competitors.

10. When a competitor leaves the competition hall for any reason, he/she will be not allowed
to continue in that round.

11. When the signal to finish round is given, competitors have to stop solving immediately,
close their booklets, put their pens/pencils down and their hands up with their booklets for
collecting.

12. At the end of a round, competitors have to remain seated until all booklets have been
collected. The signal to get up and leave will be given by the supervisor.



13. Mobile phones and electronic devices are not permitted to use in the competition hall.
The devices have to be turned off and must not be placed on the competitor’s desk.

14. Competitors may not use cameras or other recording devices during rounds. Only official
observers may do so, at the discretion of the organizers. They have to respect the
competitors and not use flash photography or cameras with excessive sounds.

15. When a competitor believes that there is a problem with a puzzle, they must clearly state
that puzzle is wrong by writing “Wrong puzzle” next to it. The competitor must not notify the
organizers during the round. This will be investigated upon completion of the round.

16. Puzzles can be completed in any order within a round. The points’ value of a puzzle is an
indication of its expected difficulty, although individual solving experience may differ. The
difficulty of an example puzzle does not necessarily reflect the difficulty of the corresponding
competition puzzle.

Permitted Items

17. Permitted items which can be used in the competition hall (unless stated otherwise) are:
pens, pencils, pencil sharpeners, erasers, rulers, blank papers and instruction booklets
annotated with notes regarding puzzle instructions and preparation notes.

18. Drinks and snacks are permitted as long as they do not disturb other competitors with a
strong smell or rustling packet.

19. It is strictly forbidden to use electronic devices such as music players and headphones or
any type of calculator. Use of such equipment may lead to the disqualification of the
competitor.

20. Any other items brought into the hall must be kept in a bag on the floor and placed under
the competitor’s desk, so as not to block the aisles.

Breach of Rules
21. Any breach of these rules may lead to penalty points, or in severe cases to a competitor
or team being disqualified from the round or competition.

Final Remarks

22. In case of a major mistake in one of the rounds, organisers reserve the right to cancel
the round, either by removing it from the time schedule, or by not rewarding any points for it
to any of the competitors.

23. The official puzzle booklets will contain 1-2 puzzles per page in the individual rounds.
The rules of the puzzle and the corresponding points are always written next to it.

24. The official puzzle booklets will not always contain puzzle examples. Therefore, we
recommend to bring the Instruction Booklet, which contains an example of every puzzle
which will be part of the championship.

25. In the team rounds, the official puzzle booklets may contain neither puzzle rules nor
examples. It is advised to bring at least one Instruction Booklet for a team for these rounds.
26. In any case of inconsistency between this Instruction Booklet and the official puzzle
booklets, e.g. rules or points, the information in the Instruction Booklet will be considered
valid.

27. In the competition hall, a timer counting down to the end of the round will be visible for all
the competitors.



12FE (Round 1)
12 24|, 35 &, 3004 (12 puzzles, 35 minutes, 300 points)

1~4.6x6 Yt A3 (6x6 Classic Sudoku) [4 + 6 + 9 + 47 ]

Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each
row, column and 2x3 outlined box.
7t 7122, 7t H2E, #2 Moz BNl 2x3 HhA B 1RE 671219 £at8 ZEglo] HolgaLich
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5~6.6x6 25 A3 (6x6 Odd Sudoku) [9 + 197]

Classic Sudoku rules apply. Cells with a circle contain odd digits.
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7 ~ 8.6x6 ®p A (6x6 Even Sudoku) [10 + 147F]

Classic Sudoku rules apply. Cells with a square contain even digits.
et AE7o] g wELch YBs} 223 Zols AR ARE & glavict
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9 ~ 12. Ydl A3 (Classic Sudoku) [32 + 35 + 52 + 6373]
Place a digit from 1 to 9 into each of the empty cells so that each digit appears exactly once in each

row, column and 3x3 outlined box.
7t 7t22, 7 H2E, &2 Ao2 EaiMel 3x3 HA RE 1RE 97ile] £2k2 F2glol Holdarich
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22+E (Round 2)
11 24|, 60 &, 6004 (11 puzzles, 60 minutes, 600 points)

1~ 2. 6x6 Y Az 3 (6x6 Classic Sudoku) [8 + 9 H]
Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each

row, column and 2x3 outlined box.
7 7t2g, 7 A2d, 3 Mo E2del 2x3 WA BE 12E 719 £2HE FEglo] Polgsuich
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3.6x6 QM AE3 (6x6 Fortress Sudoku) [16H]

Classic Sudoku rules apply. If a shaded cell and a white cell are adjacent then the digit in the shaded
cell is greater.
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4. 6%x6 SIAME A3 (6x6 Arrow Sudoku) [267]
Classic Sudoku rules apply. The sum of the digits along the path of each arrow equals the digit in the
circled cell. Digits may repeat within an arrow shape.
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5.6x6 555 AEX 3 (6x6 Greater Than Sudoku) [287]

Classic Sudoku rules apply. The cells should satisfy * > * (greater than) and * <" (less than) signs.
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6. 5535 AL 3 (Greater Than Sudoku) [857]
Classic Sudoku rules apply. The cells should satisfy * > * (greater than) and * <" (less than) signs.

Ayh AR o] A WELL £ 7F Alolo] R53E £ 2ate] hABAIE WL

9| » 2

\vl ‘L ’A‘ AL
-1

A

\—

o
(o)
(0))

LA
hd
A
L)

LA
hd

971395218&
- 5/4x1|9 8/7|6[3]|2
—V6 8 4 T 828143953_
5 718 431]7|5 2/9|8[6]3

v| [8]87277 3 6747119

4 6 . _:.3169814273’5

LA s T” 1/9/5|2 7/8[3[4]6
' 4 M +" g | [384]3 88|75l
73649151;28

7.6x6 22 A AEF (6x6 Thermo Sudoku) [227]

Classic Sudoku rules apply. Some thermometer shapes are placed in the grid. Digits are strictly
increasing from the round bulb of the thermometer to each flat end.
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8. 27 AEF (Thermo Sudoku) [75H]
(Rules are same as before) / 812 A BAe} 322 7F&r]ct,
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9 ~ 10. 7{BL}j7| AEF (Alternating Stripes Sudoku) [112 + 124 H]

Classic Sudoku rules apply. ‘Large’ and 'small’ digits alternate along the grey stripes. A ‘large’ digit
is larger than its neighbours on the stripe while a 'small’ digit is smaller. Digits may repeat on
stripes.
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11. 2 A|L] AEZ3F (Rossini Sudoku) [95 H]

Classic Sudoku rules apply. The arrows outside the grid indicate that the first three digits are in
ascending or descending order (the highest digit is at the sharp end of the arrow). If there is no arrow
outside the first three digits cannot be in either ascending or descending order.
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322 L - ¥AHt EAH|TF (Round 3 - Grid)
10 24|, 60 &, 6004 (10 puzzles, 60 minutes, 600 points)

1~ 2. 6x6 YHF Az 3 (6x6 Classic Sudoku) [6 + 9 ]
Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each

row, column and 2x3 outlined box.
7 7t2g, 7 A2d, 3 Mo E2del 2x3 WA BE 12E 719 £2HE FEglo] Polgsuich
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3.6x6 ST A3 (6x6 Extra Region Sudoku) [29 H]

Classic Sudoku rules apply. Within each coloured region each digit must appear exactly once.
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4.6x6 X|1A ZE| A= (6x6 Irregular Killer Sudoku) [28 H]

Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each
row, column and irregular shaped outlined regions. The number at the top-left corner of each cage
equals the sum of digits inside the cage. Digits do not repeat inside a cage.
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5.6x6 X|04& AL (6x6 Irregular Sudoku) [167]

Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each
row, column and irregular shaped outlined regions.
2x3 #hA iyl 32 Moz Eaiuiel 7+ ol 1 RE| 67K1e] 3k FEglol Holgaich,
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6. X|32 AE3 (Irregular Sudoku) [98H]

Place a digit from 1 to 9 into each of the empty cells so that each digit appears exactly once in each
row, column and irregular shaped outlined regions.
3x3 HhA oAl F2 Ho2 EaiQl 7 3ol 1 R2E] 971l £2kg FEglo] MolgArich,
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7.6x6 22| A& 3 (6x6 Disjoint Sudoku) [12 H]

Classic Sudoku rules apply. Numbers cannot be repeated at the same relative positions within the
outlined 2x3 boxes.
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8. 22| A& 3 (Disjoint Sudoku) [161 H]

Classic Sudoku rules apply. Numbers cannot be repeated at the same relative positions within the
outlined 3x3 boxes.
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9. &&F A3 (Windoku) [72 H]
Classic Sudoku rules apply. Within each coloured region, each digit must appear exactly once.
b AE 0] FAE whguch, MUY 3x3 AR 18E 97HIe] £2kg FEglo] Molgauch
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10. A7|E{E AEF (Scattered Sudoku) [169 H]

Place a digit from 1 to 2 into each of the empty cells, so that each digit appears exactly once in each
row, column and outlined region and in the nine grey cells.
3x3 w2 iyl A2 Moz Eeisiel 2+ gt AUt 9ol 1 BE 97iRle] 2245 FEg]

PoPgaich,
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42t2E - E (Round 4 - Quads)
9 2|, 50 &, 500 A (9 puzzles, 50 minutes, 500 points)

1~ 2. 6x6 YHF Az 3 (6x6 Classic Sudoku) [6 + 9 ]

Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each

row, column and 2x3 outlined box.

7% 7t23, 7 Al2E, 32 M2 FMQ 2x3 A BE 13E e7iale) 2248 FEglo] Pohdarich
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3.6x6 HEHE AL F (6x6 Quadruple Sudoku) [19 H]

Classic Sudoku rules apply. Each set of four digits in the intersection of two lines indicates the digits

that have to be placed in the four adjacent cells.
ot Az 2o] Falg upgrch u] 7t Aolel] 2o 47) £aHE 1 QhlN BE AbgE|ojof ghict,
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4. }=HE A (Quadruple Sudoku) [52 H]
Classic Sudoku rules apply. Each set of four digits in the intersection of two lines indicates the digits

that have to be placed in the four adjacent cells.
oJut Az o] Falg upgrch u] 7t Aolel] 2o 47) £2H: 1 QhlN BE AbgE|ojof ghict,
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1137-4467—] [Bad Ged 9 715 3 1
113/9]5 4le|7/2]8
71al2l3 871|695
Ip] .
3578 12|48 658223?8793_1 .
92518 3 al1.76
126562258 3578 1248
ale|317/ 1121859
1256-2258
| 8/7/1|9 5]6[2|4]3

5.6x6 |2 AXZF (6x6 Exclusion Sudoku) [26 H]

Classic Sudoku rules apply. Each digit at the intersection of four cells must not be present in any of
those four cells.
Qb AE o] FAg whgich Y] 7t Afojo] Foid £b: 1 QholM AbgY

4>

5 é 3 5&1 416,23

AT A 2r16r"\3 1 5r“\4
S—1) 2) 31 2)

2 114|512 3|6

D 6 B3 3«’12 6 4«*“\1 rw5
1) &—2) 1) S—2)

1 L |{4]5]2][376]1

6 6/3]1|5 472




6. M| Ax=3F (Exclusion Sudoku) [93 H]
(Rules are same as before) / 812 A BAe} 322 7F&r]ct,

—© 2191 &

-

W
56| | 3
AL
219 5|6
® (1.6/8]|3/4[2[9]7]5
115 n 3|9 5j43?896,P1\2
3 S
9/2/7|5/6/11478/3
713 3) °|8 4]8/2|9/3/7[1]5]6
3 718 6/1/5(8l274[3/9]7
2 73936'%5824
215 3/5l1(4]7/8|2]6]|9
f-l\ fg\ (2
Q) W/ 8.914|2|5/6(7|3 1
6|1 277/6|1]/9/3|5/478

7. Mathrax Sudoku [82 &]

Classic Sudoku rules apply. Some intersections of the grid lines are marked by a number and an

operator [+, -, x, /) in a circle. The number is the result of the operation, applied to both pairs of

diagonally opposite cells. An "E" in the circle indicates that all four adjacent digits are even; an "0"

indicates that all four adjacent digits are odd.

Ut 2520) 33 mErIc) Wl T Ato] AR ol

-2t o) glom 1] ke BT Wik 0=t Elof glow 1 u) 7t BE E47 gfof ek,
} H}S

- 27let R371 2ol glom iR MW T zto) AAFIE WL (5 WY B Lxjshol
gt
e
(6-) (12) (2
N Nl
I
(e H 1)
A0
104 _84@2751934
N 4737 9{,.\2 65,81
\ii'—'/' 1) - (2-)
51179.378,41677|2
(3 i ) 977371478725 6
8x - 1- 6+ 10 o
N \D{ A 2145 6@/9@'3 7/1]8
U2 S 618 P e
oy | [TleeysialetiieTs
5> 157846773 219
3/2/6|5/1/9|8|477




8. H{EH A 3 (Battenburg Sudoku) [103 H]

Classic Sudoku rules apply. Everywhere 2 odd and 2 even digits form a checkerboard pattern, a
Battenburg marking is given. If there is no marking, the above pattern is not allowed.

oyt AT 0] FAE wpFrct, u] 7 Abolol] MABLZ} QI FS, 1 ] e &0k WAL HARY
Hefg olzojof Yrth, o] & THEstE RE EAL Eof Q7] TR ofRal EA} QoW 4ot Bast

A22y] Felg olg & gl

8 5|7 96

6

0O N Wl = |~N|O 0 O,
NNV R = WO

—‘(ﬂEtDO‘)m&JI\J‘\I

9. EMA A (Quad Max Sudoku) [110 H]

Classic Sudoku rules apply. The digit pointed by the arrow must be greater than the three other
digits that the arrow touches.

At AEo| g uhgich U] 7+ Alold] oi3l sPEESL rlelrlE 2] Solrbe £7b: thE A
22bHc} Aok e,

2 7 1 3
3\h {2
5 3!\ ;8
,I
5 4|3 8
gl2]6]7[9l4al1]5]3
8 9 4]7/3[8,1]5]972]6
5/1/9|326l8|7]|4
6 1;5 3 715119473 [2]6]8
3lglale|7]2|5/9]1
5.’ \n7 9 6/9(2(1.5[8(4/3 7
3/' _\7 1]4|5(2]3]7]6 89
2[3|8"4l6/9]7]1]5
9 7 1 4 9677|588/ 11342




52t&E - Calcudoku (Round 5 - Calcudoku)
14 24|, 45 &, 4004 (14 puzzles, 45 minutes, 400 points)

1 ~ 14. Calcudoku (KenKen) [13 + 10 + 18 + 24 + 14 + 18 + 18 + 25 + 43 + 32 + 43 + 35 +

60 + 47 H]

Place a digit from 1 to N, in an NxN grid into the grid, into each cell so that no digit repeats in any row
or column. Also, the number in the upper-left corner of each bold cage indicates the value of a
mathematical operation (addition, subtraction, multiplication, division) applied successively to all
digits in the cage, starting with the largest digit for subtraction and division (e.g. 1, 2, 4 with
subtraction is a 1- clue as 4-2-1 = 1). The operation may or may not be given in the cage, but at least
one of the four operations must apply. Digits can repeat within a cage.

NxN Ato]2 BAITH 7|02 7}y 7k2 &, 7} M2&0] 1 BE N7Ir|e] £2H5 F5gl°] Holdadth
Ho2] P& Frtoll 313 22h= 3 ol SO RAES ATIE(H, -, %, 1) F 170 ARESiA
Axer kS BT

WA} LeAle] H9 2 £AERE e £2b MThE ARNH 2. A5 WA ZolFcha g
Ao 2 Axtete, 2ojx 91a] grotE olL st} ojye mhzsfof JhLich Aolx] QoM EX 42t
312 A3 glol AFgY 2 PAvIch

1- 0 15 5 1-

6

&)
—

N
N

N

I

o

4+ 2- 1- 4

(@)
O

w | Ol

KIN| W

)
olo|=|N|w
Mlw|oF|=|um
~lo | &
5 |
o
w|[n|o




6 2+-&E - ArR2lo] (Round 6 - Samurai)
524, 60 &, 600 (5 puzzles, 60 minutes, 600 points)

This round contains 1 Samurai Sudoku. Samurai Sudoku is a combination of 5 9x9 Sudoku puzzles. In
overlapping areas, it applies to both puzzles.

Overall rules: Classic Sudoku rules apply for each grids. The cells should satisfy ' > * (greater than)
and ' < ' (less than) signs. Digits in each grey lines form a set of consecutive digits in random order.
o] Bt EoME AtRajo] AR 7L Lhguch AbRelo] ARRL 9x9 Alo]2 ARF 5 RA} shiz
7 Fefluich, MY JYoME £ AT BEollA) Mgt

35 3 : 2 BAToic Qe AnRe) FAL whgUch £ 3t Aol 55L& 2aje] (haApAS
aHEuIch, gl Mol 20j31 7t Runjct 80] ofyl A4E £ ARgsiol ek,
12 516
4 3
3 5 8 4
7 7
618 516
3127614
8 5
3 7
61419518
312 412
4 5
4 1 3 6
(0 9
5 817

(This picture is just an example to understand the Samurai & Renban rules, not an actual puzzle.)
(o] 23S AbRato], Al F31L olszy] SIE] LleRH oA B A2 Fel: MZ-L oputh)

=2 (Center). YHl A 3 (Classic Sudoku) [100 ]



ZHACE (Top Left). X-Sums Sudoku [125 H]

Clues outside the grid indicate the sum of the first X digits placed in the corresponding direction,
where X is equal to the first digit placed in that direction.
BPZo] FoiR 22te 3 E00M Hg Xl T2 TWHUITH X+ I E00lM R A 7] Soi3iviTh

382127 3

16 34 1 45 32

39

34

3
22
1
16
33
45

31

3713 1 43 6 2522 24 45

28
6
43
23
39
23
11
1
45

39
34

22

16

33
45

382127 3 1634 1 4532
8l4]5]2[3][7]1]9]6]es8
6/7]3|1]8]o]5]4]2]6
2/1]9|6|5/4|3]7 843
4l9]2[7[6[3]8]1]5]23
1)5/8|4]9]2[6/3]7]30
3/6/7|5/1]8]|9]/2]4]23
5[8[4]9][7][1]2]6]3]11
9/2]6|3[4[5]7[8]1]1
7[3[1]8]2][6]4]5]9]45
3713 1 43 6 252224 45

2 MCH (Top Right). 8 AEE7| A3 (Sum Skyscraper Sudoku) [125 H]
Each digit represents a skyscraper of the given height. Clues outside the grid indicate the sum of
heights of visible skyscrapers from that direction. Higher skyscrapers block the view of lower
skyscrapers.
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13
22
22

21

BAIT Qhol] Holpe 2352 218 Fol2 Wiks, Yol Y= =
ZFRuich, Bl 2oj2) £aks 1 W Mok BEO 7 &
24
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ZISEE (Bottom Left). 2| & Zig| Z2| AxF (Little Killer Killer Sudoku) [125 ]

The number at the top-left corner of each cage equals the sum of digits inside the cage. Digits do

repeat inside a cage. Also, numbers with arrows outside the grid is the sum of the digits in the

direction pointed by the arrow.

AR (FAL 2 E2iRIQl ZF FY) Y& gTholl AAl F0i3 22 1 Qtol] AMRElE £3AFEC] 2L

WL}, o] olME RE M2 ch2 4ab2uh F4E|o] glojof Fuich, ohga], uigo] Fojd £ab:
(o]

Mol SPHE BE 22150] & WYL of ol L £x1E 4 AR glo] 2 2 AL

13 : R : 4 :
""" S ET FETOT
R T . ““JH i
S I N A O I P
14 : 14 :
1 i 1 i 914]3|5/27[1]86]
""" T 7/81216/91'114]5)3
10 1 8 1 e = ;
' | a|5/611[3 4(8[7/9 2]
‘ —— S === 1/3/'5|9/7/6|8/2/|4
7 1 12 = ! S0 s LA 0
33 : 143 |8l7/4|1/5]/2[3]%)9]
RCE i AR R 2/96[4/8/3|5/1 7
_____ l6]1/9[8(3/4]2[7 5]
8 5 5 12 : 4/2/8|7/6/5[9]3 1
boooo SRR I I N '3/5]7]|2.1/9(6 %8
235}¢H (Bottom Right). Pointing Odds Sudoku [125 ]
Clues outside the grid indicate the number of odd digits in the direction of the diagonal arrow.
upo] Fojxl £ate 1 Wlgoz §48 2 el HAE W
0:
4 3 7 8 >
5 9/(1|18/6(2(4|7|3
9 2 1 3.6 715(9(4|2 1.8
8 2|/4|11,7|3|6|/5|9
113|/2(9/8|5|7|4 8
1. 7 4 | |
6 4/5|/3/1/7]9|8|2
8 4 6 "6 |o/7/8lal2/6]|5]3 1
1[7/5]9]|6[3/1]8|2]4
ol|2 813 2/8/3|7/4/9|1/6|5](%
> 4 1/6[2/5/8[3|97

N
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EIM 72}2E - AF AT (Round 7 - (TEAM) Passing the Parcel)
18 24|, 40 &, 1600 A (18 puzzles, 40 minutes, 1600 points)

This round contains 18 independently solvable sudokus. At the beginning of the round, each player
gets a sudokul(1 to 4). After solving the sudokus independently for every 2 minutes, each player must
pass the puzzle to the next player (player 1 will pass the puzzle to player 2, player 2 will pass the
puzzle to player 3, player 3 will pass the puzzle to player 4, player 4 will pass the puzzle to player 1).
This process continues. When one of the players completes his/her sudoku, then player can solve the
next puzzle. The process continues for 40 minutes. After the end of 40 minutes, all the papers are
taken back.

ol e ColME PR F 4 Gk AEF 18RAVL 2AEILT), AL EE ANY W 148 BAS 23}
g EAA ZRR|a 2giicl, AJASEAGE WA jER 2] 2 Bo] 2 winict E3 QIH A FARA
HAZAL, (B HA Al T owA AaolAl, B wm Mas A AR Ao, A A das d wR
MaoAl, ¥ W) M3t R A A2oAl GZch) ol & Ho] BAlg EQichy 1 Alghe ofhg
BAIE EWY & qIgvch o] T 408 S A4 VWEH 40 Bo] RE ALt BARE slAFITh

1, 10. ¥t A3 (Classic Sudoku) [35 + 25 ]
Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each

row, column and 2x3 outlined box.
7t 7t2g, 7 M2E, &2 o2 Eaiml 2x3 A RE 1RE 6711e] 2242 F2glo] Holdrith

N

2 2136
4 6|3

0]

w
W=k
A= INDOO|O
apNp|~rO|—
NOaAIW A~ | —
DA IN]W O
W O




2. LE|X] A3 (No Touch Sudoku) [40 H]

Classic Sudoku rules apply. Equal digits don't touch each other diagonally.
et Axo] FHg wELTh 2L 2AR] A Wos Pgle 4 gt

6 1 23|64

N

(@)

W
IO QO
— DO O|s
g w|~ND|—
N =0 OC|W
Wwoinp A~ =
(o) IEF SN N I B AV RN O3

3. jzZtM AE 3 (Diagonal Sudoku) [200H]
Classic Sudoku rules apply. Each main diagonal contains each digit from 1 to 6.
et AE o] 3 upErch 3 hZH £ ZolE 128 671%19] £34E FEglo] Holgarich

4 3 ||l2]14|5]|3|6
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4, 2535 A K3 (Greater Than Sudoku) [100H]
Classic Sudoku rules apply. The cells should satisfy * > * (greater than) and * <" (less than) signs.
gut Az Fo] 2 wrEL|th, & IF Abolof] RES = £ L2 thATHAIE TRt

5/6|4
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5. 2574 Ax3F (Thermo Sudoku) [957]

Classic Sudoku rules apply. Some thermometer shapes are placed in the grid. Digits are strictly
increasing from the round bulb of the thermometer to each flat end.

Yt Ao g upFch LEAQ Az RE(5Z RE)NE T REo2 ZAE 43t ¥ Aok
gt

H .
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6. A& AL 3 (Consecutive Sudoku) [40 H]

Classic Sudoku rules apply. In ALL cases where two neighbouring digits are consecutive, this is
indicated with a bar.
Pt Ax o] g uhguch Folate R QM £ 43t 23] A4 F9olgt = 7+ Aolof izt

Z014 lgich,

2] | 6] [|5]2]3]4]6]1
4 | | ] |5||4]/1/6]2]8]|5
[ 3]45[1]2]6
2/6|/1(3/5]4

L —H bt e ~—
1 13([1]5]|2]|6 /43
3] | 1] 6345 1]2

7. 2 7|/3d 85 AT F (Arrow/Thermo Sudoku) [140 H]

Classic Sudoku rules apply. Some thermometer shapes are placed in the grid. Digits are strictly
increasing from the round bulb of the thermometer to each flat end. Also, the sum of the digits along
the path of each arrow equals the digit in the circled cell. Digits may repeat within an arrow shape.
Uik AR Fo] 3213 ThELth 2&A19 AR RE(SE RE)RE £ REOoR Z4E £27H HAH Aok
ok E, @ ool E07he &£Abe ShRe] o] Avrhe BE £AHEQ] 3 TWHLICH o] oM e
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8. jaE AX3F (Arrow Sudoku) [100H]
Classic Sudoku rules apply. The sum of the digits along the path of each arrow equals the digit in the
circled cell. Digits may repeat within an arrow shape.

Qut Ax 0] 3¢ whguich ¢ gt Soj7ke £2b: shite] Mo Abh: BE £abEe] $%

TRHLcE, o] RoME L 2AHE Y& A3 glo] 2 & YaLeh
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NI | =W (S~
- OV | A~ O
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9. XV/Kropki Pairs Sudoku [50 H]

Classic Sudoku rules apply. Adjacent cells with digits summing to 5 are marked by V, while those
summing to 10 are marked by X. A white circle between two cells indicates that the neighbouring
digits are consecutive. A black circle between two cells indicates that one of the digits is twice as big
as the other digit. The dot between two cells with digits 1 and 2 has any of these two dots. NOT all
possible V, X's and dots are marked.

Uyt AE o] Falg whgiich % 7k Aolo] X7k FolA glchy 1 £ zho] 312 10 Yuich VIt FoiH
SIchH 1 % zte] ge 5 Utk E, % 2t Aojol] Ze o] ZojH it & 27} ok 2xte] 2y
Quict, @ o] FojA glrhH 1 = zhe A&%l £2bE ARgsfior gLtk 13k 2 Atolol: Ho] Fojzicky
A4S Hol & 2E, 8 Hol T 2 Ygtch 012 TEsHE RE X, V, Hol ZoiA A 7] w
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11. X|O34& A= 3 (Irregular Sudoku) [757]

Place a digit from 1 to 6 into each of the empty cells so that each digit appears exactly once in each
row, column and irregular shaped outlined regions.
3x3 uhA oAl F2 Mo Eaimel 7 3ol 1 2E| 67129 £2kg FEglo] MolgArich,

6 5 416
1 3

5

(@)

—
DWW o=
ga|=|]wiINd |~
1IN~ OO|W
WD A~
NIEEO|W|OT|—
OO0 W N

12. S E A3 (Extra Region Sudoku) [50 H]

Classic Sudoku rules apply. Within each coloured region each digit must appear exactly once.
Qg 2£70] 3¢ whgL|ch we RUT JAoE £3t50] FEglol SoRuITh
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13. @M AE3F (Fortress Sudoku) [70H]

Classic Sudoku rules apply. If a shaded cell and a white cell are adjacent then the digit in the shaded
cell is greater.

dub A 20] 3L whguch AU a1
2217} o Aok et
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DW= BN O
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— NN O O

14. Zg| Az (Killer Sudoku) [75 H]

Classic Sudoku rules apply. The number at the top-left corner of each cage equals the sum of digits
inside the cage. Digits do not repeat inside a cage.

Uit 2530 FXg uhgich Aol(YH o2 EeiNQl 7 Fo) PE Aol oA FojF £xb: 1
otoll ALEE|E £21E0] 23S WIICE o] lME BRE M2 ch2 fat2gt 2gElo] Qlojof ghick,
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15. 2|& Zg e A= (Little Killer Killer Sudoku) [220 H]

Classic Sudoku rules apply. The number at the top-left corner of each cage equals the sum of digits
inside the cage. Digits do not repeat inside a cage. Also, numbers with arrows outside the grid is the
sum of the digits in the direction pointed by the arrow.

et 2z 30 FHg upgich ACI(HA L2 ENQl 7 G) PE o] oA FojF £xb: 2
Yol SHBER: £7150) BUG YYLICL of YoIE BT M2 EHE SA2T 24EI0] Slolof Y.

‘|

obgel, Bigoll F0i2 £2b: 3 WYolM S BE 2315 TS WK of QoilHE 2
2718 84 AT glol £ & YgHet,

. "4 "4
125 '8 514 :
| E i 9 9 17
i L | [a]s]2]5T6]1
|18l llelsl1]2314
el "] [26]3]1]4]s
RN 1 [51%]e[2]3
— | [3]2/5(4]1]6
..... | [1]4]6]3|5 2

17 7711

16. 2| & Z2| AEF (Little Killer Sudoku) [130 H]
Classic Sudoku rules apply. Numbers with arrows outside the grid is the sum of the digits in the
direction pointed by the arrow.
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Yt Az 3] FAG upgrch wlZe] Fofdl £AHE 1 WM SHHE RE 43459 T wyUR
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b x 31156324 /[%
*x 11e,,24:3561“11
6/1/5[4|3|2
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17. % A3 (Odd/Even Sudoku) [557]
Classic Sudoku rules apply. Cells with a circle contain odd digits, cells with a square contain even

digits.

Ug 250 FAg whgLlch Saetnt 12 ol &4

QLaHIct.

g, WlEs 2431 Zhols HATH ALg
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W= |~ D

18. 28 A3 (Clone Sudoku) [100 H]

Classic Sudoku rules apply. In grey areas with the same shape, all digits on equal places must be

identical.

U4t AER0] FAL whELC) Mo Y BEo] 23t QT olS/RIE 23 P4} Hxs BE
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YA 8ateC - of Huef: W4
(Round 8 - (TEAM) The Connector: Consecutive)
8 =4, 40 &, 1600 A (8 puzzles, 40 minutes, 1600 points)

Overall rules: Some cells of each grid are connected to one or more grids via grey connectors. The
connected cells must contain consecutive digits.

35 74 M2 T2 £ BAmOIN 54 F o] Moz AZEd] gk RL B & gud sy F
7Holls A4E 227k Sojrtof g,

3 2

1. HIHE AL 3 (Consecutive Pairs Sudoku) [200 H]

Classic Sudoku rules apply. Adjacent cells marked by a dot contain consecutive digits. Not all
possible dots are marked.

ot AE o] FAg wEL|ch £ 7H Alolo] Ho] A glg

ek, o2 THEsts BE o] 2ol 9] 7] R, & 3t Alojo] o] gl
1_}._0_ AL OIAL]E’I.
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4 3 o [8T7]6|3]9]7|4]2]5

3 4 0 O 3¢495[2/1/8|9/6|7

O 2/7/9la/6/5[3[1]8

5 8 1]6|3|5|2|4|70809
T

o 7|5/2]o/8]3]6/4]1

9 1 ? ¥ 9l8|al1]70605]3]2




2. XV Pairs Sudoku [200 H]

Classic Sudoku rules apply. Adjacent cells with digits summing to 5 are marked by V, while those
summing to 10 are marked by X. NOT all possible V, X's are marked.

Qb AT o] FAg whgct, £ 7t Alojo] X7} Fofd Qiriw 1 % gre] e 10 Yulct, VIE ol
Qi 1 % zbe] g2 5 Uitk ol ghEst: RE X, V7t Foi 9ia] ¢l7] wiRol] ofRa3 A7} glx
FOME % zHo] go] 5 EE 100] F £E Q&

[ I
X 7 5 v
| X |
X v
112 516
314 718
8x2/7|6/3/9|5[4v1
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6 5 9/5]3[a]2]7]8]1]6
1v4 8|5/9|/6(2]7x3
X Vv 6 7/ 2[(3/1/8lal95
8 2 7[116]9/8(2|3[54
5/8/a|1]6[3[7]2]9
9 S 1 2/3/9|7/5/4]1]6 8

3. X A& 3 (Liar Sudoku) [200 H]

Classic Sudoku rules apply. All given clues are off by exactly 1, i.e. the correct clue would be 1 higher
or 1 lower than the number given in its place.

ub AR o] S THEUCE SR Fojll 2352 RE HR FojRgrich o] 2AtERRE 14

S5k} wo} guich,

9/2|3|7|1/4(5|/68
5/7|/112|/6/8(9/4 3
8/4/6|3/9|5(2|1]7
2/9|/4|6|/8|/7|3 /5|1
6/3|/7]|5(4/1]18|2|9
1/8/519(/2|3(6|7 4
4/1/2|8|5|9(7|/3|6
3/6/9|4(7/2]1|8]|5
7/5/8|1/3|6[4/9]|2




4. CiMdl A3 (Sum Sudoku) [200 H]

Classic Sudoku rules apply. Each number between adjacent cells is the sum of the digits in those two
cells.
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5. EE|2 AL (Trio Sudoku) [200 H]

Classic Sudoku rules apply. Cells with a circle contain small digits (1, 2, 3), cells with a square
contain medium digits (4, 5, 6), cells with a diamond contain big digits (7, 8, 9).
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6. EH4L A3 (Pencilmarks Sudoku) [200 H]

Classic Sudoku rules apply. Cells with pencilmark digits must contain one of those digits.
ot Ax30] Falg uhgich 2t ol A 2ol 225 F 1708 A ZA4l8.

12 2 AE
6| 56 5 |4 6|4 5
78 89 9l7 897
3[12 1 12 2
4 5 6la 6| s
9| 8 |789|7 8 78 |7 9
2 |12 2 3 31 2
4 45 4 6|4 B
7 9| 8 8 9 8
2 |1 2 31 12 3|1
5 6 6 4
8 |78 8 9 _ -
i+ ol 26las? 2, A K] 8| 6:|'2 | 5,|44 | 3)|:1¢|49,| .7
897 8 |7 8 3.1 ],9.|i7 | 86| 5| 2,
1 3 31
12 56 84 3 1%6 26 2 1 3 ?944 .16 i 2 99"361608
7 9 9 9 9l78 |7 7 9 587631247,
2 2 |1 1 3|1
sol7s | sol"> | s |* °l7 | °|/°° de| 25|43°[ 9,|,7 |8 |5 |'1°| &¢
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23 3 1 312 |1 1]9 6 4 153 2 38 ??3 :33
‘8 ‘e g° ol7° |7 9 8 99??3 8,2 13“45 :62‘3“ :56
23T 8 6| 5 |4 142 6,314 |8 9,8 1,7, 2|1
9| 9l7 9| s 2’| & |"1¢| 3| 6],7 |9, 8’44

7. APl AE 3 (Between Sudoku) [200 H]

Classic Sudoku rules apply. Digits on each line must have a value between the digits that are placed
in the circles at both ends of the line.
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8. HI3 E7| A3 (Kropki Pairs Sudoku) [200 H]

Classic Sudoku rules apply. A white circle between two cells indicates that the neighbouring digits
are consecutive. A black circle between two cells indicates that one of the digits is twice as big as the
other digit. The dot between two cells with digits 1 and 2 has any of these two dots. Not all possible
dots are marked.

euF AR FO| 23 ThFEYTE & T Aol H2 o] FoA Qlthd §F 2217t Tt £2be] 28 Ayt
8 ol FojA Qrbd 2 & Th2 IEY RAHE ARESHoF LItk 12k 2 Atojofl= ol FojRirhd H2
Ho] & &%, 8 Ho|] & £k QlELIh o]F THESHE= o] BR FoiA Qlz] ¢F7] wiZEo ol R HAIL
Re RoME A4 22 B 24 AL L 2E QUEYICL
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EIM 92t E - ofx| (Round 9 - (TEAM) Match)
10 24|, 45 &, 1800 (10 puzzles, 45 minutes, 1800 points)

There will be 3 variant sudoku sets and 1 classic sudoku. Classic Sudoku cannot be solved alone.
Each variant sudoku set contains 3 puzzles again, and you have to figure out which puzzle satisfies
which rule. Each rule is used exactly once for different puzzles in that set.

Also, in each set, there are a total of 9 colored cells, and the numbers 1 to 9 must appear exactly
once in these cells. And all the numbers in this cell are copied to Classic Sudoku.

7oL WY AP 3MEQ Qut ARF | BAPE ZAFP Qi AEFE ThEo2 E & giaudh
Hy AEF 7 HENIMLE g #ol 3 B4 2AEEr] ofF BA} o e TEsHEx] A4 Lopujo
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E, 7 ALEO|M Mgt o] & 9 7 Lped] o] By | He 9 7o) 2t HHS| 3 M Lielop
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1 ~ 3. Non XV Sudoku / 8l A3 (Classic Sudoku) / 2<% AE3F (Non-Consecutive
Sudoku) [120 + 120 + 120 H™]

Match each grid with one of the following three rules. There are a total of 9 colored cells, and the
numbers 1 to 9 must appear exactly once in these cells.

ofF BA0] o} FXg HEAIY A AY HAIAL, MU 7o) 97 oo o] HBa] 1 2
97bxle] £2k7t gats] g WM Letop e,

Non XV: Classic Sudoku rules apply. The digits in two orthogonally adjacent cells cannot have a sum
of either 5 or 10.
Non XV : gyt A& 30| Fag wEL|ch Astate2 o3 & zto] 2 iz 51 100] Lhg 4

gLavIet,

Classic: Place a digit from 1 to 9 into each of the empty cells so that each digit appears exactly once
in each row, column and 3x3 outlined box.
duh: 7k 7t2E, 7 M2E, AL HO2 SeMQl 3x3 A BE 12H 97xle) 22h8 F5gl]

Aolguiet,

Non-Consecutive: Classic Sudoku rules apply. Digits in adjacent cells cannot be consecutive.
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4 ~6. LE|{X] A3 (No Touch Sudoku, Anti-King Sudoku) / QE|L}IO|E A L3 (Anti-Knight
Sudoku) / QtE|H AE 3 (Anti-Queen Sudoku) [270 + 270 + 270 H]

Match each grid with one of the following three rules. There are a total of 9 colored cells, and the
numbers 1 to 9 must appear exactly once in these cells.

ofF BAO] o FXg HEAIR A AY HAIAL, WAL 7ho] F 97 oo o] HEa] 1 2w
97txle] £2k7t ats] gk WM Letop et

No Touch: Classic Sudoku rules apply. Identical digits do not touch each other diagonally.
LER] @ @yF ARFO] RAlS whFUch A2 2Ap7jE] o FEFeR HY &+ YSLIth

Anti-Knight: Classic Sudoku rules apply. No cell that is a knight-step away can contain the same digit.
QUELIOE @ Uuk AR o] FHg uhbgLich ojx 7HE} 1 o 2RE HAo) tiolE EE Y]] Kt
W gAoM 2 2 gk ol M2 72 2abrh ehME o Fuch

Anti-Queen: Classic Sudoku rules apply. All 8s and 9s are black and white chess queens. Each queen

must attack at least one of the same colored queen.
QeI ¢ gyt 2T o] g whgvich BE 83 9& Z7 A 3, wBA) et Zt7te]
$ARS © T Aol T2 BE FAY 2 glojok Yk,
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7 ~9. BAl A3 (Descriptive Pairs Sudoku) / =2 A3 (Frame Sudoku) / O}2A}0| =
AEZ (Outside Sudoku) [150 + 150 + 150 H]

Match each grid with one of the following three rules. There are a total of 9 colored cells, and the
numbers 1 to 9 must appear exactly once in these cells.

ol BA0] ofF 72g MEAIZ Px] AW FHFAL, MY o] F 97 vhotd] o] Kz | 2
97bx]e] £2k7t &ts] g WM Leop e,

Descriptive Pairs: Classic Sudoku rules apply. For every pair of clues (X and Y) outside the grid at
least one of the following is true:

- Xis in the Yth position in that direction;

- Yis in the Xth position in that direction.

BAF : d9b A R0 213 whFuch, wpgo] 2oi3l 278 22 X o Yol theliM th2 F 2|A Skt
o4& ghasfiof ek,

- 3 ol XA ol E017hs 22 Y AuTth

- 3 oM YRR ol E017ks 22 X QYT

Frame: Classic Sudoku rules apply. Each number outside the grid is the sum of the first three digits
in the corresponding direction.
zaQ) : Wy AR0] FA whEUEh Hhgo] Zoj3l £xbe 1 Z0IM Mg 37te] g wch

Outside: Classic Sudoku rules apply. Digits outside the grid have to be placed in the first three cells
from that direction.

otgAfolE : ¥k AEFo] FAL uwhEich HPZo] Fojzl 2L 1 F ML 3 7 FolN HIEA]
Ltetof ek,

78 27 22 57 23 23 69 37 13
28 36
24 3 27
16 5 48
37 9 1 15
88 68

-

78 27 22 57 232369 37 13
25 8 6| (26 sifsraoloerale 1ol
38 9 16 s1l279 71e 5Tl 1 4 5]rs
58 6 79 2els s sls 4 1le 6 a]oe
78 14 wla's ol s3]z s 1he
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10. Yuk A3 (Classic Sudoku) [180 H]

Put the numbers in the shaded cells of each set in the same position. Then solve classic sudoku.
o BAISOIM MUt Zhol QI £AMES T Ate]2 JtHE AN $oj Y8t AR g Zojof Yok,

v T a2






2023 OfA|otA £ A MAIICYT]
Asia Sudoku Championship 2023
Instruction Booklet — General

HFEHXIX| = HZFA| (Jeju City, Jeju Island, South Korea)

2023 18 27 29 Y /Friday 27th, January 2023

10:00-10:35 Round 1 - Classic 35 minutes 300 points
10:50-11:50 Round 2 - Order & Disorder 60 minutes 600 points
12:05-13:05 Round 3 - Grid 60 minutes 600 points
15:00-15:50 Round 4 - Quads 50 minutes 500 points
16:05-16:50 Round 5 - KenKen 45 minutes 400 points
17:05-18:05 Round 6 - Samurai 60 minutes 600 points
20234 18 282 EQQ /Saturday 28th, January 2023
10:00-10:40 Round 7 - TEAM - Passing the Parcel 40 minutes 1600 points
10:55-11:35 Round 8 - TEAM - The Connector: Consecutive 40 minutes 1600 points
11:50-12:35 Round 9 - TEAM - Match 45 minutes 1800 points

Z%| /Organized by:

aReITZ

il

Z 9l /Sponsored by:

cps) CPSLl&IFL

) U &L E

WorLD PuzzLeE FEDERATION
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Competition Rules

Scoring and Bonuses
Points will be awarded only for fully and correctly solved puzzles. In general, there is no partial credit
unless it is stated otherwise in the round's description.

Individual Rounds

- A bonus of 1 point for each remaining 6 seconds(10 points for each full remaining minute) will be
awarded to any competitor who correctly solves each puzzle in a round.

- At the judge’s discretion, 0.6 points (0.6x bonus, 6 points for each full remaining minute) will be
awarded in the case of a single minor mistake in no more than one Sudoku. A minor mistake is
considered as at most two incorrectly filled cells in at most one of the Sudokus.

- Otherwise, no bonus will be awarded.

Team Rounds

- Abonus of 5 points for each remaining 6 seconds(50 points for each full remaining minute) will be
awarded to any team who correctly solves all the puzzles in a round.

- At the judge’s discretion, 3 points (0.6x bonus, 30 points for each full remaining minute) will be
awarded in the case of a single minor mistake in no more than one Sudoku. A minor mistake is
considered as at most two incorrectly filled cells in at most one of the Sudokus.

- Otherwise, no bonus will be awarded.

Competition Hall Rules

1. Each competitor has to sit at his/her pre-allocated desk in individual rounds. Teams have
to work at their pre-allocated desks/areas for team rounds.

2. Prior to the start of each round, competitors must ensure they are at their desks ready for
the start of the round. Late arrivals may not be permitted to enter the competition hall to take
part in a round (at the discretion of the organizers).

3. Prior to the start of each round, competitors have to clearly write their name, team and
reference number on the front of their competition booklet into the allocated space. If this
information is not complete, then the organizers reserve the right not to award any points to
that competitor for that round.

4. Competitors must not open their booklets before the official start of the round. When the
signal for the start of the round has been given, competitors may open their booklets and
begin solving the puzzles.

5. During each individual round, competitors have to keep silent, unless declaring completion
of a round.

6. During team rounds, team members may talk to each other, but should do this with
respect to other teams.

7. To declare a round complete, a competitor must close his/her booklet, clearly state
“finished” and raise his/her arm with the booklet. The competitor’'s arm must be raised until
the booklet is collected. The same rules apply for the team competition.

8. Competitors or teams who complete a round with more than five minutes in advance, are
allowed to leave the competition hall quietly.

9. Competitors or teams who complete a round with five minutes or less left are not allowed
to leave their desks or tables in order to not to cause unnecessary disruption to fellow
competitors.

10. When a competitor leaves the competition hall for any reason, he/she will be not allowed
to continue in that round.

11. When the signal to finish round is given, competitors have to stop solving immediately,
close their booklets, put their pens/pencils down and their hands up with their booklets for
collecting.

12. At the end of a round, competitors have to remain seated until all booklets have been
collected. The signal to get up and leave will be given by the supervisor.



13. Mobile phones and electronic devices are not permitted to use in the competition hall.
The devices have to be turned off and must not be placed on the competitor’s desk.

14. Competitors may not use cameras or other recording devices during rounds. Only official
observers may do so, at the discretion of the organizers. They have to respect the
competitors and not use flash photography or cameras with excessive sounds.

15. When a competitor believes that there is a problem with a puzzle, they must clearly state
that puzzle is wrong by writing “Wrong puzzle” next to it. The competitor must not notify the
organizers during the round. This will be investigated upon completion of the round.

16. Puzzles can be completed in any order within a round. The points’ value of a puzzle is an
indication of its expected difficulty, although individual solving experience may differ. The
difficulty of an example puzzle does not necessarily reflect the difficulty of the corresponding
competition puzzle.

Permitted Items

17. Permitted items which can be used in the competition hall (unless stated otherwise) are:
pens, pencils, pencil sharpeners, erasers, rulers, blank papers and instruction booklets
annotated with notes regarding puzzle instructions and preparation notes.

18. Drinks and snacks are permitted as long as they do not disturb other competitors with a
strong smell or rustling packet.

19. It is strictly forbidden to use electronic devices such as music players and headphones or
any type of calculator. Use of such equipment may lead to the disqualification of the
competitor.

20. Any other items brought into the hall must be kept in a bag on the floor and placed under
the competitor’s desk, so as not to block the aisles.

Breach of Rules
21. Any breach of these rules may lead to penalty points, or in severe cases to a competitor
or team being disqualified from the round or competition.

Final Remarks

22. In case of a major mistake in one of the rounds, organisers reserve the right to cancel
the round, either by removing it from the time schedule, or by not rewarding any points for it
to any of the competitors.

23. The official puzzle booklets will contain 1-2 puzzles per page in the individual rounds.
The rules of the puzzle and the corresponding points are always written next to it.

24. The official puzzle booklets will not always contain puzzle examples. Therefore, we
recommend to bring the Instruction Booklet, which contains an example of every puzzle
which will be part of the championship.

25. In the team rounds, the official puzzle booklets may contain neither puzzle rules nor
examples. It is advised to bring at least one Instruction Booklet for a team for these rounds.
26. In any case of inconsistency between this Instruction Booklet and the official puzzle
booklets, e.g. rules or points, the information in the Instruction Booklet will be considered
valid.

27. In the competition hall, a timer counting down to the end of the round will be visible for all
the competitors.



12&E - Ut Az 3 (Round 1 - Classic)
10 24|, 35 &, 3004 (10 puzzles, 35 minutes, 300 points)

1~ 10. & Az 3 (Classic Sudoku) [14 + 15 + 28 + 29 + 29 + 35 + 35 + 37 + 39 + 39%H]

Place a digit from 1 to 9 into each of the empty cells so that each digit appears exactly once in each
row, column and 3x3 outlined box.
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22t2E - A3 4l 37| "] (Round 2 - Order & Disorder)
10 24|, 60 &, 6004 (10 puzzles, 60 minutes, 600 points)

1~2 BES A3 (Greater Than Sudoku) [38 + 41 H]

Classic Sudoku rules apply. The cells should satisfy * > ' [greater than) and ' < ' (less than] signs.
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3~4 25 AE3 (Thermo Sudoku) [34 + 60H]

Classic Sudoku rules apply. Some thermometer shapes are placed in the grid. Digits are strictly
increasing from the round bulb of the thermometer to each flat end.
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5~ 6. 2A|lL] AE3 (Rossini Sudoku) [40 + 72 H]

Classic Sudoku rules apply. The arrows outside the grid indicate that the first three digits are in
ascending or descending order (the highest digit is at the sharp end of the arrow). If there is no arrow
outside the first three digits cannot be in either ascending or descending order.
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7 ~ 8. ABL7| 2=F (Alternating Stripes Sudoku) [67 + 72 H]

Classic Sudoku rules apply. ‘Large’ and 'small’ digits alternate along the grey stripes. A ‘large’ digit
is larger than its neighbours on the stripe while a 'small’ digit is smaller. Digits may repeat on
stripes.
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9 ~10. Mz E§M A3 (Stalagmite Stalactite Sudoku) [87 + 89 H]

Classic Sudoku rules apply. The clues around the grid denote all the increasing or decreasing
sequences longer than 2 in the given row/column in the correct order. The sequence is increasing
from the tip of the sign.
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322 L - ¥AHt EAH|TF (Round 3 - Grid)
8 24|, 60 &, 600 & (8 puzzles, 60 minutes, 600 points)

1. 2 AR 3 (Windoku) [36 H]
Classic Sudoku rules apply. Within each coloured box, each digit must appear exactly once.
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2. o=tk A3 (Extra Region Sudoku) [77 H]
Classic Sudoku rules apply. Within each coloured region, each digit must appear exactly once.
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3. AJ|E{E AEF (Scattered Sudoku) [83 H]

Place a digit from 1 to 9 into each of the empty cells, so that each digit appears exactly once in each
row, column and outlined region and in the nine grey cells.
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. 22| 23 (Disjoint Sudoku) [83 H]
Classic Sudoku rules apply. Numbers cannot be repeated at the same relative positions within the
outlined 3x3 boxes.
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5. ¥ A3 (Toroidal Sudoku) [75 H]

Place a digit from 1 to 9 into each of the empty cells so that each digit appears exactly once in each
row, column and irregular shaped outlined regions. Some regions wrap around the grid from left to
right and/or from top to bottom.
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6. 52 AL 3 (Cube Sudoku) [64 H]

Place a digit from 1 to 8 into each of the empty cells so that each digit appears exactly once in each
rows of eight cells in three principal directions and outlines regions.
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7. X|32 AE 3 (Irregular Sudoku) [527]

Place a digit from 1 to 9 into each of the empty cells so that each digit appears exactly once in each
row, column and irregular shaped outlined regions.
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8. X|aA gl Ax3F (Irregular Killer Sudoku) [130 H]

Place a digit from 1 to 9 into each of the empty cells so that each digit appears exactly once in each
row, column and irregular shaped outlined regions. The number at the top-left corner of each cage
equals the sum of digits inside the cage. Digits do not repeat inside a cage.
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42t2E - E (Round 4 - Quads)
9 27|, 50 &, 500 A (9 puzzles, 50 minutes, 500 points)

1. HEHE AL F (Quadruple Sudoku) [24 H]

Classic Sudoku rules apply. Each set of four digits in the intersection of two lines indicates the digits
that have to be placed in the four adjacent cells.
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2. Mathrax Sudoku [37 H]

Classic Sudoku rules apply. Some intersections of the grid lines are marked by a number and an

operator (+, -, %, /) in a circle. The number is the result of the operation, applied to both pairs of

diagonally opposite cells. An "E" in the circle indicates that all four adjacent digits are even; an "0"

indicates that all four adjacent digits are odd.
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3. A|A|EF A= 3 (Clock Faces Sudoku) [38 H]

Classic Sudoku rules apply. Each 2x2 area with digits increasing in clockwise direction is marked
with a white dot in the middle of the area. Each 2x2 area with digits increasing in anti-clockwise
direction is marked with a black dot in the middle of the area. All such dots are marked.
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4. He] AEF (Exclusion Sudoku) [41 H]

Classic Sudoku rules apply. Each digit at the intersection of four cells must not be present in any of
those four cells.
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5. {EH O A =3 (Battenburg Sudoku) [46 H]

Classic Sudoku rules apply. Everywhere 2 odd and 2 even digits form a checkerboard pattern, a
Battenburg marking is given. If there is no marking, the above pattern is not allowed.
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6. JEWMA A3 (Quad Max Sudoku) [49 H]

Classic Sudoku rules apply. The digit pointed by the arrow must be greater than the three other
digits that the arrow touches.
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7. 28 ®3XJ| Ax3F (Clone Pairing Sudoku) [54 H]

Classic Sudoku rules apply. There are several 2x2 green and blue squares in the grid. Green and blue
squares form clones one by one. You have to figure out what's paired up.
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8. diHAl A3 (Determinant Sudoku) [86 &]

Classic Sudoku rules apply. The determinants of 2x2 matrices are given in the center of the four cells.
The determinant of a 2x2 matrix is axd-bxc, where a is the top left, b is the top right, c is the bottom
left and d is the bottom right element.
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9. SMAl A3 (Multiplication Table Sudoku) [125 H]

Classic Sudoku rules apply. Some areas of 2x2 cells in the grid have been shaded. The two-digit
number in the second line of such an area must be product of two one-digit numbers in the first line
of the corresponding area.
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52t&E - Calcudoku (Round 5 - Calcudoku)
92|, 458, 400 A (9 puzzles, 45 minutes, 400 points)

1 ~ 9. Calcudoku (KenKen) [14 + 18 + 31 + 26 + 53 + 72 + 66 + 46 + 74 H]

Place a digit from 1 to N, in an NxN grid into the grid, into each cell so that no digit repeats in any row
or column. Also, the number in the upper-left corner of each bold cage indicates the value of a
mathematical operation (addition, subtraction, multiplication, division) applied successively to all
digits in the cage, starting with the largest digit for subtraction and division (e.g. 1, 2, 4 with
subtraction is a 1- clue as 4-2-1 = 1). The operation may or may not be given in the cage, but at least
one of the four operations must apply. Digits can repeat within a cage.

NxN Alo]2 BAjEt 71202 2} 7h22, 7k Al2 2ol 1 2E] N7hle] 23h8 F2glo] Holgauich,
Ao|] P& Ftoll 343 22z 3 ol SO RAES ATIE(H, -, %, +) F 170 ARESiA
Axet AaHE BT

WA} LeAlo] A9 2 £xbnE e 43t 2ATHR A 2MQ. A1 E7} P ZojHchH s
Ao 2 Axtetn, 2ojx 9la] ot oln st} ojxre mhzsfof JhLich Aoz QoM EX 42t
514 AT glol AHgY & PFUITH

1- 0 15 5 1-

6

()
o

AN
NS
N |
N
o

4+ 2- 1- 4

(@)
L o)

w | o

KIN W

o
olo|=|N|w
Mlw|oF¥|=]|o
~lo | &
5 |
)
w|[n|o




6 2+-&E - ArR2lo] (Round 6 - Samurai)
524, 60 &, 600 (5 puzzles, 60 minutes, 600 points)

This round contains 1 Samurai Sudoku. Samurai Sudoku is a combination of 5 9x9 Sudoku puzzles. In
overlapping areas, it applies to both puzzles.

Overall rules: Classic Sudoku rules apply for each grids. The cells should satisfy ' > * (greater than)
and ' < ' (less than) signs. Digits in each grey lines form a set of consecutive digits in random order.
o] Bt EoME AtRajo] AL 27 Lhguch AbRelo] AERL 9x9 Alo]2 ARF 5 RA} shiz
7 Fefluich, MY JYoME £ AT BEollA) Mgt

35 3 : 2 BAToic Qe AnRe) FAL whgUch £ 3t Aol 55L& 2aje] (haApAS
aHEuIch, gl Mol 20j31 7t Runjct 80] ofyl A4E £ ARgsiol ek,
12 516
4 3
3 5 8 4
7 7
618 516
3127614
8 5
3 7
61419518
312 412
4 5
4 1 3 6
(0 9
5 817

(This picture is just an example to understand the Samurai & Renban rules, not an actual puzzle.)
(o] 23S AbRato], Al F31L olszy] SIE] LleRH oA B A2 Fel: MZ-L oputh)

=2 (Center). YHl A 3 (Classic Sudoku) [100 ]



ZHACE (Top Left). X-Sums Sudoku [125 H]

Clues outside the grid indicate the sum of the first X digits placed in the corresponding direction,
where X is equal to the first digit placed in that direction.
BPZo] FoiR 22te 3 E00M Hg Xl T2 TWHUITH X+ I E00lM R A 7] Soi3iviTh

39
34
3
22
1
16
33
45
31

382127 3

16 34 1 45 32

3713 1 43 6 2522 24 45

28
6
43
23
39
23
11
1
45

39
34

22

16

33
45

382127 3 1634 1 4532
gla]5[2]3]7]1]9]6]es
6/7[3|1]8/9]|5]/4]2]|6
2/1]9|6|5/4]|3/7]8]43
4]9]2|7]6|3]|8[1]5]3
1/5/8|4]/9/2|6|3|7|39
3/6/7|5/1]8]|9]/2]4]23
5[8[4]9][7][1]2]6]3]11
9/2]e|3]a|5|7]8][1]1
7[3[1]8]2][6]4]5]9]45
3713 1 43 6 252224 45

2 MTH (Top Right). 8 AEE7| A3 (Sum Skyscraper Sudoku) [125 H]
Each digit represents a skyscraper of the given height. Clues outside the grid indicate the sum of
heights of visible skyscrapers from that direction. Higher skyscrapers block the view of lower
skyscrapers.
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13
22
22

21

2AIT ool Holpe £AHE2 B9 Folg Wik, Yol Y
ZFuich, uioll Zoj3 £abe 1 o= wol: 7BEY 7 &
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6 7 4 5 |22
7
8
9112 17
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ZISEE (Bottom Left). 2| & Zig| Z2| AxF (Little Killer Killer Sudoku) [125 ]

The number at the top-left corner of each cage equals the sum of digits inside the cage. Digits do

repeat inside a cage. Also, numbers with arrows outside the grid is the sum of the digits in the

direction pointed by the arrow.

Az (FA 2 E2iRIQl ZF FY) Y& Tholl AAl F013 2= 1 Qtol] AMRElE 23S 2L

UL}, o] olME RE M2 ch2 4ab2uh F4Elo] glojof Fulch, ohga], uigo] Fojd £zb:
(o]

Mol SPHE BE 22159] & WYL of ol 2L £x1E 4 AR glo] 2 2 AL

13 : 11 : 4 :
""" S ET FETOT
SR T I ““JH '
S (S I A N A i
14 : 14 :
15 i 15 i 9/4]3]5/2]7[1/886
""" E— 7/8/2]6:9:1[4/53
10 1 8 1 e = ;
' : 7[5/6/1[3/4/8|7 9 2|~
‘ S B e === 1/3/'5|9/7/6|8/2/|4
7 1 12 = ! S0 s LA 0
33 : 143 |87 4|15 2[3% 9]
R R AR R 2|9%6|4/83[5/17
_____ “|6[1]9|8(3[4]2/7 5]
8 5 5 12 : 4/2/8|7/6/5[9]3 1
boocloo o SR SR I 3.5]7]2/1]9[6]% 8
235}¢H (Bottom Right). Pointing Odds Sudoku [125 ]
Clues outside the grid indicate the number of odd digits in the direction of the diagonal arrow.
HbZoll 203 42t 1 WgoR E48 2 ol LS W
0:
4| |3| |7| |8 =
5/9/1|18/6|2]|4|7|3
9 2 1 3|6|7]|5/9/4|2|1|8
8 2|/4|11|/7/3(6|5/|9
132|198 /5|7|4|6
1| 7 4 | |
6 4/5|/3(1,7(9|8|2
8 4 6 "6 |o/7/8lal2/6]|5]3 1
[7/5/9(6]3/1]|8]2]|4
ol|2 813 2/8/3|7/4/9|1/6|5](%
> 4.1/6|2/5/8[(3/9|7

N
m‘

not

9

I=t.



EIM 72}2E - AF AT (Round 7 - (TEAM) Passing the Parcel)
10 24|, 40 &, 1600 A (10 puzzles, 40 minutes, 1600 points)

This round contains 10 independently solvable sudokus. At the beginning of the round, each player
gets a sudokul(1 to 4). After solving the sudokus independently for every 2 minutes, each player must
pass the puzzle to the next player (player 1 will pass the puzzle to player 2, player 2 will pass the
puzzle to player 3, player 3 will pass the puzzle to player 4, player 4 will pass the puzzle to player 1).
This process continues. When one of the players completes his/her sudoku, then player can solve the
next puzzle. The process continues for 40 minutes. After the end of 40 minutes, all the papers are
taken back.

ol e TolME PR F 4 Gk AEF 10 RAPL 2AEILT), RS AT W 148 B2AS 23}
g BAA ZRR|a Egiicl, AJRSEAGE WA jER 2] 2 Bo] 2 winict E3 QIH A FARA
HAZAL, (B A AaE T owA) AaolAl, B R il A AR Ao, A WA das dl wR
MaoAl, ¥ W) M3t 38R W20Al GZch) ol & Ho] BAlg EQichy 1 Alghe ofhg
B2AE BN & qIgvch o] T 408 S A4 VWEH 40 Bo] RE ALt RS sl4FITh

1. 224 AEF (Thermo Sudoku) [100H]

Classic Sudoku rules apply. Some thermometer shapes are placed in the grid. Digits are strictly
increasing from the round bulb of the thermometer to each flat end.

Qb A o] FHg uhguch LEAle) Al RE(SZ RE)RE T REo2 ZAE £t ¥ HAHob
et

8 7 5

w

~
O Al NW|=IN| @
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o O Wikl =N
~N =2 RO OO0 VM
O ~N|Ww o &=
A OOMN|IN 2|0 WO
O W= NMO|o O,




2. GiMd A3 (Sum Sudoku) [100 H]

Classic Sudoku rules apply. Each number between adjacent cells is the sum of the digits in those two
cells.
it AEFo| g whgLch £ 7k Alold] Fod £2b: 1 % o] ghg W),

T
12

172523
912|618 |7
5|4|9101
4106 [ 9145 | 2
59123 (1|81
338|746
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7
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3. German Whispers Sudoku [120H]

Classic Sudoku rules apply. Adjacent digits along the marked line have a difference of at least 5.
it 2z 0] FAg uhgeich A Holld QR £ 7o) AH: Holx 5 oy Lietof Yich,

8| — 2|5
2 8
9

8l 116]3]7]9]4 25
2 6 71531 ]2]4]6 98
5 2l9|4l|é6l8l5|r|al7
481193 8|7 5|2
3l2l9ls|17]sl6a
1 |s5|6|7|8]4l2]|0l1 3
9 6 1]4]2]7]9]3]|5/8]6
9/7]5|2]6/8|3 44
63 | 9 |6 3elals 1]o7 0




4. 2| Z| &gl AEF (Little Killer Killer Sudoku) [150 H]

Classic Sudoku rules apply. The number at the top-left corner of each cage equals the sum of digits
inside the cage. Digits do not repeat inside a cage. Also, numbers with arrows outside the grid is the
sum of the digits in the direction pointed by the arrow.

Gt AL Fo] F2lg urFch APIR|(HALZ FRAR]) 2 FF) YE ATl AA 2o 22k 2 9t
o] AF8ElE= &2HEQ] F¥2 WRITH o] QMME RE AME thE £2EERF 2AE]0] glojof g, of
22|, upgol] Fojzl £2t: 1 WM S35tE BE 22159 §g WILch o] QoM e £2tE
g4 A5k glo] & & Sl&vIth

13 : R : 14 :
N O
T T I E— = 11 i
S S I I A &
4 : 14 :
s o B14]3]5[2 7[1]8]6
----- E— 7|8/2]6/9/1]4]5)3
10 1 8 1 T | A P ;
: ' a|5/611]3 48|79 2]z
33 : | 43 8/7/4|1/5/2[38 9]
TE 73 ] 2 9__'_5____4_,5 8 _3_3____5_,5_1 7
_____ 16]1/9[8/38[4]2 7[5
8 : : RE: : 4/ 2/8|7|65[9/3]1
L ) I I 3/5]7[2/1]9(6.%4 8

5. Ij2|E|] MELQ|X] AL R (Parity Lines Sandwich Sudoku) [150]

Classic Sudoku rules apply. Digits along each marked line are either all odd or all even. Also, clues
outside the grid indicate the sum of the digits that have to be placed between the digits 1 and 9 in the
respective row or column.

Qb AR o] g uhguch Z7te] A SlolME BE £2150] E42 o]2ojd YL HA2 0|20
RF&LITh ob22, upgo] Foj7l LaFE 3 FolM 13t 9 Alo]d)] Gl BE £AHEQ] EF¥E HWHUICH

23 21 6
35 |

v
8 1

23 21 6

35[1]8|5]713]2[4]6]09

7|2]9|7[1]4]6|8][3]5

8l4{6|3|59|8[1]/7]|2

6+2|4(3[8[1]9]5]7

4 9 9|5/8|2|7]4]6|1 3

7/3/1|96|5|2|48

26 algl7l9lal+i3l5]26

26(5/1/6|8|2][7[3]9]4

15 15(3 4| 2|6 |51917 |81




6. SX+=€ AL (Sequence Sudoku) [150 H]

Classic Sudoku rules apply. Digits along each line form arithmetic progression.

Qut 2E 0] 3¢ whgch Mo 10j3 LoME Sat2Fe gHEsoF st (1-3-5, 9-8-7-6 213
§HE oM withE o2 742 Y abo] §HE 22t ZUbstAE hasiof Yuich)

(5] 7
2
3]711]8 614|520
1 9 9l6l2|8]7/1]al8]3
3 g8 413297161
4|3 5|2 968|817
7|16|7 58|39
718lolal13]|2/5]6
3 4 519 3|1,4|2|6|7 8
6|2 8lo 3 7|1 /45
v1a7|6/8 5992

7. Pointing Evens Sudoku [150 H]

Classic Sudoku rules apply. Clues outside the grid indicate the number of even digits in the direction
of the diagonal arrow.
b AE 0| FAg whguch, vl 20j3 £2bs 1 o Hag 2 7to] A2g Wehch,

A 4 3
1 7 3
4, 2 5
6 1 8
X 2 8 g4 003
4
2‘ 3 7 5/ 1/8[7/2/9|4 3|6
x_ 4l2|3/7]|6/8|4]|9/1]5
4 6 5 J|alelola]1]5]|2/8]7
J114/5|2/7|8|3|6|9
2 5 9 J6/8[3[5/9/1|7 2|4/
x 719|/2|4|3|6|8|5/|1][%
4
9 3 32/ 4(1|5/7|6 /9|8
7 3 4 9/5/6|8|4/2|1/7|3[4
8/7/1|9/6/3|5/4|2
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8. Region Sum Lines Sudoku [220]

Classic Sudoku rules apply. For each line, digits on the line have an equal sum N within each box it
passes through. If a line passes through the same box more than once, each individual line segment
within that block sums to N separately.

it Axo] 33 uhgich, zizbe] Alntch 3x3 HEA TR LiA Zhzte] o] mE Zrojo}
e}, ToF e MPAZ £ ¥ ol x|ihE Mol SichH ¥ ¥ X whmich w2 AlAbsHok ek,

9

()
N WO =N 0=
~N =2 |kl O WO
OO 0N W =~ O,
O o Al N DN
AN © W= |
W NN =X ©l;
O W O|=~Nm|oo &M
0 b N|lw Nolao = o
- N0 0| RO N W

9. 3|& Ax3F (Palindrome Sudoku) [220 H]

Classic Sudoku rules apply. The digits on the grey lines form a palindromic sequence from one end to
the other. i.e. the Xth digit on the grey line is identical to the Xth digit on the opposite end of the line.
(example: 1234321)

@ AL Fo] FAS mhEUITE o] I3 oM "1234321"HFH o2 Qojk FE gok F2
"g]8 12"Z olglof Fich Z, PollMEE] X¥iA) The] Latel FlolMRE] X WA 7te] £2b7} Zoto
et

2|6 415
3 9

21611]3|8]9]7 45
3/5/8|7|4a4]2/60

79 4l6/5 23 8 1

2 8 8175|9236 14

8 4 4 36l5/1]8l9l7 2

91 /2lal7]6|8|5 3

5 71 [ T2T7[s 32|59 6
68 3[t+9|5|al27

54 3 (8| 540267138




10. 3l E A3 (Arrow Sudoku) [240 H]

Classic Sudoku rules apply. The sum of the digits along the path of each arrow equals the digit in the
circled cell. Digits may repeat within an arrow shape.

Uy 2570] FAL whELIC @ ol Soirhe b Shfe] el Arhe BE 23159 $¥E

L), o] RolME L 2AHE & A3 glo] 2 & YaLeh

7 1
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~
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O |00 | K| W=
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YA 8ateC - of Huef: W4
(Round 8 - (TEAM) The Connector: Consecutive)
8 =4, 40 &, 1600 A (8 puzzles, 40 minutes, 1600 points)

Overall rules: Some cells of each grid are connected to one or more grids via grey connectors. The
connected cells must contain consecutive digits.

35 74 M2 T2 £ BAmOIN 54 F o] Moz AZEd] gk RL B & gud sy F
7Holls A4E 227k Sojrtof g,

3 2

1. HIHE AL 3 (Consecutive Pairs Sudoku) [200 H]

Classic Sudoku rules apply. Adjacent cells marked by a dot contain consecutive digits. Not all
possible dots are marked.

ot AT o] FAg wEL|ch £ 7H Alolo] Ho] A glg

ek, o2 THEsts BE o] 2ol 9] 7] R, & 3t Alojo] o] gl
1_}._0_ AL OIAL]E’I.

] 2212 AlL3fof
INE A4 237t

»H rH1

i OO 6l9]8[7][3[2]1]5]4

T 1 6@_5318;\'{9276

4/2/7¢:695/1[8]9/|3

4 3 o [8T7]6|3]9]7|4]2]5

3 4 0 O 3¢495[2/1/8|9/6|7

O 2/7/9la/6/5[3[1]8

5 8 1]6|3|5|2|4|70809
T

o 7|5/2]o/8]3]6/4]1

9 1 ? ¥ 9l8|al1]70605]3]2




2. XV Pairs Sudoku [200 H]

Classic Sudoku rules apply. Adjacent cells with digits summing to 5 are marked by V, while those
summing to 10 are marked by X. NOT all possible V, X's are marked.

Qb AT o] FAg whgct, £ 7t Alojo] X7} Fofd Qiriw 1 % gre] e 10 Yulct, VIE ol
Qi 1 % zbe] g2 5 Uitk ol ghEst: RE X, V7t Foi 9ia] ¢l7] wiRol] ofRa3 A7} glx
FOME % zHo] go] 5 EE 100] F £E Q&

[ I
X 7 5 v
| X |
X v
112 516
314 718
8x2/7|6/3/9|5[4v1
v 9 X 4x6|5|8(7 1|9 3v2
3/9/1|2]4|5]6/8]|7
6 5 9/5]3[a]2]7]8]1]6
1v4 8|5/9|/6(2]7x3
X Vv 6 7/ 2[(3/1/8lal95
8 2 7[116]9/8(2|3[54
5/8/a|1]6[3[7]2]9
9 S 1 2/3/9|7/5/4]1]6 8

3. X A& 3 (Liar Sudoku) [200 H]

Classic Sudoku rules apply. All given clues are off by exactly 1, i.e. the correct clue would be 1 higher
or 1 lower than the number given in its place.

ub AR o] S THEUCE SR Fojll 2352 RE HR FojRgrich o] 2AtERRE 14

S5k} wo} guich,

9/2|3|7|1/4(5|/68
5/7|/112|/6/8(9/4 3
8/4/6|3/9|5(2|1]7
2/9|/4|6|/8|/7|3 /5|1
6/3|/7]|5(4/1]18|2|9
1/8/519(/2|3(6|7 4
4/1/2|8|5|9(7|/3|6
3/6/9|4(7/2]1|8]|5
7/5/8|1/3|6[4/9]|2




4. CiMdl A3 (Sum Sudoku) [200 H]

Classic Sudoku rules apply. Each number between adjacent cells is the sum of the digits in those two
cells.
it AEFo| g whgLch £ 7k Alold] Fod £2b: 1 % o] ghg W),
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5. EE|2 AL (Trio Sudoku) [200 H]

Classic Sudoku rules apply. Cells with a circle contain small digits (1, 2, 3), cells with a square
contain medium digits (4, 5, 6), cells with a diamond contain big digits (7, 8, 9).

Ut Ax o] S whguch Szt 2843 ol 2 2(1, 2, 37 WRZ 2= ol
3744, 5, 6)%F, otE R 237 THl= E4(7, 8, 99t AHEE & QLEvITH
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6. EH4L A3 (Pencilmarks Sudoku) [200 H]

Classic Sudoku rules apply. Cells with pencilmark digits must contain one of those digits.
ot 2x30] Falg uhgich 2} ol A 2ol 225 F 1708 A ZA4l8.

12 2 AE
6| 56 5 |4 6|4 5
78 89 9l7 897
3[12 1 12 2
4 5 6la 6| s
9| 8 |789|7 8 78 |7 9
2 |12 2 3 31 2
4 45 4 6|4 B
7 9| 8 8 9 8
2 |1 2 31 12 3|1
5 6 6 4
8 |78 8 9 _ -
i+ ol 26las? 2, A K] 8| 6:|'2 | 5,|44 | 3)|:1¢|49,| .7
897 8 |7 8 3.1 ],9.|i7 | 86| 5| 2,
1 3 31
12 56 84 3 1%6 26 2 1 3 ?944 .16 i 2 99"361608
7 9 9 9 9l78 |7 7 9 587631247,
2 2 |1 1 3|1
sol7s | sol"> | s |* °l7 | °|/°° de| 25|43°[ 9,|,7 |8 |5 |'1°| &¢
1 3 3 1.3
23 3 1 312 |1 1]9 6 4 153 2 38 ??3 :33
‘8 ‘e g° ol7° |7 9 8 99??3 8,2 13“45 :62‘3“ :56
23T 8 6| 5 |4 142 6,314 |8 9,8 1,7, 2|1
9| 9l7 9| s 2’| & |"1¢| 3| 6],7 |9, 8’44

7. APl AE 3 (Between Sudoku) [200 H]

Classic Sudoku rules apply. Digits on each line must have a value between the digits that are placed
in the circles at both ends of the line.

ot AE 7o) Falg uhguch g Mo] FE Zoj Yo shby Folx gizvich ZHE 71202 M
SoPrte 23152 @ Qo] Sojrks 425 Ao Qlojof e},
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8. HI3 E7| A3 (Kropki Pairs Sudoku) [200 H]

Classic Sudoku rules apply. A white circle between two cells indicates that the neighbouring digits
are consecutive. A black circle between two cells indicates that one of the digits is twice as big as the
other digit. The dot between two cells with digits 1 and 2 has any of these two dots. Not all possible
dots are marked.

euF AR FO] #3213 ThFEYTE & T Aol H2 o] FoA QlthH §F 2217t thE £2he] 28] Ayt
8 ol FojA Qrbd 2 & TH2 IEYH RAHE ARESHoF LItk 12k 2 Atojofl= ol FojRirhE H2
Mol & £k, & Ho|] & £k QlELIh o]E THESHE= o] BR FoiH Qlz] ¢F7] w0 ol R HAIL
Ae ROME A4 22F B 24 AL L 2E QUEYICL

* ¢ &
° ° o
®
°
® 2
o
L 5
.. 3 = 102 3!1@5948'|7__'_
~ | |824]9|3[2][7]5]1]6
4 65 7(804 1]2/3/9
o~ [3%6[2]1]7]5[9]4a]8
6 7/8%4|9/3/2|6[5]1
o |9|1/5|4|8]6|3]|7]2
Q 2(7]/6|5/1/4|8]9]3
O O |s|9ls|706[3[1]2]4
2 0 ¢ 0 ¢ | [Bal e satreis

EIM 92t E - ofx| (Round 9 - (TEAM) Match)
10 24|, 45 &, 1800 (10 puzzles, 45 minutes, 1800 points)

There will be 3 variant sudoku sets and 1 classic sudoku. Classic Sudoku cannot be solved alone.
Each variant sudoku set contains 3 puzzles again, and you have to figure out which puzzle satisfies
which rule. Each rule is used exactly once for different puzzles in that set.

Also, in each set, there are a total of 9 colored cells, and the numbers 1 to 9 must appear exactly
once in these cells. And all the numbers in this cell are copied to Classic Sudoku.

7oL WY AP 3MEQ Qut ARF | BAPE ZAFP Qi AEFE ThEo2 E & giaudh
Hy AEF 7 HENIMLE g #ol 3 B4 2AEEr] ofF BA} o e TEsHEx] A4 Lopujo
et 2 AL N2 ohE BAIS tos MY g WAL ALggLICH

E, 7 ALEO|M Mgt o] & 9 7 Lped] o] By | He 9 7o) 2t HHS| 3 M Lielop
$hich 1212 o] ol e 2AEL BE UyF AT o] BabgUeL




1 ~ 3. Non XV Sudoku / 8l A3 (Classic Sudoku) / 2<% AE3F (Non-Consecutive
Sudoku) [120 + 120 + 120 H™]

Match each grid with one of the following three rules. There are a total of 9 colored cells, and the
numbers 1 to 9 must appear exactly once in these cells.

ofF BAO] o FXg HEAIY A AY HAIAL, MU 7ho] 97 oo o] HBa] 1 2w
97txle] £2k7t ats] gk WM Letop et

Non XV: Classic Sudoku rules apply. The digits in two orthogonally adjacent cells cannot have a sum
of either 5 or 10.

Non XV : 3t A& 30| Fag wEL|ch Astate2 0|23k & zto] 2 Mz 51 100] vhg &
gigich

BAH .

Classic: Place a digit from 1 to 9 into each of the empty cells so that each digit appears exactly once
in each row, column and 3x3 outlined box.
oAb : 7t 7h2E, 7 M2E, A2 Ho2 Ml 3x3 A BE 12H 97xle) 2248 F3gl]

Aolgariet,

Non-Consecutive: Classic Sudoku rules apply. Digits in adjacent cells cannot be consecutive.
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4 ~6. LE|{X] A3 (No Touch Sudoku, Anti-King Sudoku) / QtE|L}IO|E A L3 (Anti-Knight
Sudoku) / QtE|H AE 3 (Anti-Queen Sudoku) [270 + 270 + 270 H]

Match each grid with one of the following three rules. There are a total of 9 colored cells, and the
numbers 1 to 9 must appear exactly once in these cells.

ofF BA0] o} FXg HEAIR A AY HAIAL, MU 7ol F 97 Lhote] o] HEa] 12
97bxle] £2k7t g&ts] gk WM Letop e,

No Touch: Classic Sudoku rules apply. Identical digits do not touch each other diagonally.
LER] @ @F AR FO] RAlg whFUth A2 27| i HEFeR JY & YSLITh

Anti-Knight: Classic Sudoku rules apply. No cell that is a knight-step away can contain the same digit.
QUELIOE @ Uuk AR Fo] FHg uhbgLich ojx 7} 1 o 2RE HAo LiolE EE Y]] Kt
W gAoM 2 2 gt ol M2 22 2abrh ehME o Fuch

Anti-Queen: Classic Sudoku rules apply. All 8s and 9s are black and white chess queens. Each queen

must attack at least one of the same colored queen.
QeI ¢ gyt 2T o] g whgich BE 83 9& Z7 A 3, WA} et Zt7te]
$ARS u T Aol k2 BE FAY 4 glojok Yk,
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7 ~9. BAl A3 (Descriptive Pairs Sudoku) / =2 A3 (Frame Sudoku) / O}2A}0| =
AEZ (Outside Sudoku) [150 + 150 + 150 H]

Match each grid with one of the following three rules. There are a total of 9 colored cells, and the
numbers 1 to 9 must appear exactly once in these cells.

ol BA0] ofF 72g MEAIZ Px] AW FHFAL, MY o] F 97 vhotd] o] Kz | 2
97bx]e] £2k7t &ts] g WM Leop e,

Descriptive Pairs: Classic Sudoku rules apply. For every pair of clues (X and Y) outside the grid at
least one of the following is true:

- Xis in the Yth position in that direction;

- Yis in the Xth position in that direction.

BAF : d9b A R0 213 whFuch, wpgo] 2oi3l 278 22 X o Yol theliM th2 F 2|A Skt
o4& ghasfiof ek,

- 3 ol XA ol E017hs 22 Y AuTth

- 3 oM YRR ol E017ks 22 X QYT

Frame: Classic Sudoku rules apply. Each number outside the grid is the sum of the first three digits
in the corresponding direction.
zAQ) : Wy ARF0] F2 whEUTh Hpgo] Zoj3l £xbe 1 Z0IM Mg 37te] g wch

Outside: Classic Sudoku rules apply. Digits outside the grid have to be placed in the first three cells
from that direction.

olgAfolT : ¥k AL o] FAL uwhEich HPZo] Fojdl £XEL 1 F ML 3 7 FolN HEA]
Ltetof ek,
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10. Yuk A3 (Classic Sudoku) [180 H]

Put the numbers in the shaded cells of each set in the same position. Then solve classic sudoku.
o BAISOIM MUt Zhol QI £AMES T Ate]2 JtHE AN $oj Y8t AR g Zojof Yok,

v T a2
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